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Question Id : 5362282465 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Group Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension

Yes



The following table shows the total number of beds in each hospital in bracket and the
number of patient admitted at different hospitals for a disease on a particular day. Based on

the data in the table, answer the questions 1-5 :

.

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
Diseasea,x\ (100) (50) (100) (5
Viral disease 30 15 35 10
Heart disease 35 10 30 10
Kidnev disease 15 5] 15 5
Liver disease 10 5 b 15

Sub questions

Question Number : 1 Question Id : 5362282466 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which disease occupies highest number of beds in all the hospitals?

(1) Heart Disease
(3) Kidney Disease
Options :

5362289601. 1
5362289602. 2
5362289603. 3
5362289604. 4

Question Number : 2 Question Id : 5362282467 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(2)
(4)

What 1s the total percentage of unutilized beds?

(1) 19.44%
(3) 16.66%
Options :

5362289605. 1
5362289606. 2
5362289607. 3
5362289608. 4

Question Number : 3 Question Id : 5362282468 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(2)
(4)

Viral Disease
Liver Disease

17.66%
15.44%




What 1s the percentage of Liver disease patient admitted in all the hospitals from the total
patients admitted?

(1) 15% (2) 16%
(3) 13% (4) 14%
Options :

5362289609. 1
5362289610. 2
5362289611. 3
5362289612. 4

Question Number : 4 Question Id : 5362282469 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1z the ratio of patient admitted for viral disease to kidney disease?

() 9:4 @ 7:4
(3) 8:3 4y 10:4
Options :

5362289613. 1
5362289614. 2
5362289615. 3
5362289616. 4

Question Number : 5 Question Id : 5362282470 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1s the ratio of total patients admitted to Hospital A to Hospital B?

(1) 19:7 (2 IV
(3) 18:7 b T:17
Options :

5362289617. 1
5362289618. 2
5362289619. 3
5362289620. 4

Question Id : 5362282465 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 5362282466 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289601. 1
5362289602. 2
5362289603. 3
5362289604. 4

Question Number : 2 Question Id : 5362282467 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T} AETATA] H el Tohad Hiowra T del 8 ¢

17.66%
15.44%

(1)  19.44% (2)
(3)  16.66% (4)

Options :

5362289605. 1
5362289606. 2
5362289607. 3
5362289608. 4

Question Number : 3 Question Id : 5362282468 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1) 15% (2) 16%
(3) 13% (4) 14%
Options :

5362289609. 1
5362289610. 2
5362289611. 3
5362289612. 4

Question Number : 4 Question Id : 5362282469 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Teramorsfaa Tm & difsa sl AT ST T T © ditsa WAl T T ST o= A

(1) 9:4 2 T:4
(3) 8:3 (4) 10:4
Options :

5362289613. 1
5362289614. 2
5362289615. 3
5362289616. 4

Question Number : 5 Question Id : 5362282470 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T A 317 S0 B 9 9d1 Fe U0 F AT o A

(1) 19:7 73 TR
(3) 18:7 (4 7T:17
Options :

5362289617. 1
5362289618. 2
5362289619. 3
5362289620. 4

Sub-Section Number : 2
Sub-Section Id : 53622898
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362282471 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



What 1= the focus of concern in understanding level teaching?

(1) Promotion of scope for seelking of relationship among facts and 1deas.
(2) Encouraging recall and recognition of facts and information.
(3) Raising of problems and seeing solutions to problems so presented.
(4) Developing a sense of happiness and ownership in learming.

Options :

5362289621. 1
5362289622. 2
5362289623. 3
5362289624. 4

Question Number : 6 Question Id : 5362282471 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FEsTa T e § dEeaqyl #4 R
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Options :

5362289621. 1
5362289622. 2
5362289623. 3
5362289624. 4

Question Number : 7 Question Id : 5362282472 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following emotional characteristica are of crucial significance 1n adolescent
learming?
(1) Feeling of group belongingnes
(2) Hero-worship and sentiments
(3) Expanding emotional ties with those in the neighbourhood
(4) Dependence processes and making friends
Options :
5362289625. 1
5362289626. 2

5362289627. 3
5362289628. 4

Question Number : 7 Question Id : 5362282472 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362289625. 1

5362289626. 2

5362289627. 3
5362289628. 4

Question Number : 8 Question Id : 5362282473 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

During teaching when a teacher uses process questions which of the following types will
have dominance?

(A) Direct questions

(B) Higher order questions
(C) Convergent questions
(D) Indirect questions

(E) Concept based questions

Choose the correct answer from the options given below :

(1 (A), (B) and (C) only (2) (B). (C) and (D) only
(3) (C). (D) and (E) only (4) (B). (D) and (E) only
Options :

5362289629. 1
5362289630. 2
5362289631. 3
5362289632. 4

Question Number : 8 Question Id : 5362282473 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) == (A). (B) ¥ (C) (2) == (B). (C) 311 (D)
(3)  F== (C). (D) 31 (B) (4) = (B). (D) 3 (E)
Options :

5362289629. 1
5362289630. 2
5362289631. 3
5362289632. 4

Question Number : 9 Question Id : 5362282474 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Tutorals, group discussions and question-answer sessions are dialogic and

are part of direct teaching methods.

Statement Il : Project work, Laboratory work, simulation and role playing are action based

and are part of indirect teaching methods.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement Il are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement I 1s correct but Statement IT 1s incorrect

(4) Statement I is incorrect but Statement II is correct

Options :



5362289633. 1
5362289634. 2
5362289635. 3
5362289636. 4

Question Number : 9 Question Id : 5362282474 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289633. 1
5362289634. 2
5362289635. 3
5362289636. 4

Question Number : 10 Question Id : 5362282475 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Maximum performance tests are designed to assess the upper limits of the
examinee's knowledge and abilities.

Statement IT: Typical response tests are designed to measure the behaviour and
characteristics of examinees.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement Il are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement II 1= correct
Options :

5362289637. 1
5362289638. 2
5362289639. 3
5362289640. 4

Question Number : 10 Question Id : 5362282475 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289637. 1
5362289638. 2
5362289639. 3
5362289640. 4



Question Number : 11 Question Id : 5362282476 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following methods 1s used in empirical researches?

(1) Inductive method () Deductive method
(3) Initiative method (4) Scientific method
Options :

5362289641. 1
5362289642. 2
5362289643. 3
5362289644. 4

Question Number : 11 Question Id : 5362282476 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
stz ya oy Frefafaa 4 2 0- fata = w3 2 27
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Options :

5362289641. 1
5362289642. 2
5362289643. 3
5362289644. 4

Question Number : 12 Question Id : 5362282477 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When the independent variable 1s explored rather than mampulated. to observe the effect on
dependent variable. the method of research 1s called.,

(1) Ex-post facto method (2) Experimental method
(3) Case study method (4) Descriptive survey method
Options :

5362289645. 1
5362289646. 2
5362289647. 3
5362289648. 4

Question Number : 12 Question Id : 5362282477 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289645. 1
5362289646. 2
5362289647. 3
5362289648. 4

Question Number : 13 Question Id : 5362282478 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the qualitative research characteristics from the following :
(A) Exploring a problem and developing a detailled understanding of a central
phenomenon.
(B) Having the literature review play a minor role but justifving the problem.
(C) Describing a research problem through a description of trends.

(D)  Collecting numeric data from a large number of people using instruments with
present questions.

(E) Collecting data based on words from a small number of individuals.

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) {A). (B) and (E) only
(3) (B). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362289649. 1
5362289650. 2
5362289651. 3
5362289652. 4

Question Number : 13 Question Id : 5362282478 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289649. 1
5362289650. 2
5362289651. 3
5362289652. 4

Question Number : 14 Question Id : 5362282479 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the probability sampling procedures from the following :
(A) Quota sampling

(B) Stratified sampling

(C) Dimensional sampling

(D) Cluster sampling

(E) Systematic sampling

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (B). (C) and (D) only

(3)  (B). (D) and (E) only (4) (C). (D) and (E) only

Options :
5362289653. 1



5362289654. 2
5362289655. 3
5362289656. 4

Question Number : 14 Question Id : 5362282479 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Fp=rtertiaa 5 9 wriEan wid=ma it = oea i
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Options :

5362289653. 1
5362289654. 2
5362289655. 3
5362289656. 4

Question Number : 15 Question Id : 5362282480 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : In research, ‘Null hypothesis’ when rejected. offers the scope for accepting

the alternative or substantive research hypothesis.

Statement II: When the Null hypothesis 1z rejected. there will be chances for committing
‘Beta’ rather than ‘Alpha’ error.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362289657. 1
5362289658. 2
5362289659. 3
5362289660. 4

Question Number : 15 Question Id : 5362282480 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289657. 1
5362289658. 2
5362289659. 3
5362289660. 4

Question Number : 16 Question Id : 5362282481 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The entry of new media has made online learning :

(1) Secondary source based (2) Dependent on personal sources

(3) Institution-centric (4) Independent

Options :

5362289661. 1
5362289662. 2
5362289663. 3
5362289664. 4

Question Number : 16 Question Id : 5362282481 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1)  Tadm® &m@ wEa (2) =t g W e
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Options :

5362289661. 1
5362289662. 2
5362289663. 3
5362289664. 4

Question Number : 17 Question Id : 5362282482 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Removal of communication barriers in a classroom will result in

(A) Clear enunciation of specific instructional behaviours
(B) A climate of purposeful student interaction.

(C) Promotion of personality cult.

(D) The irrelevance of illustrative examples.

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (A) and (D) only
Options :

5362289665. 1
5362289666. 2
5362289667. 3
5362289668. 4

Question Number : 17 Question Id : 5362282482 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289665. 1
5362289666. 2
5362289667. 3
5362289668. 4

Question Number : 18 Question Id : 5362282483 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :
Assertion (A):  Repeating more and more the same message will make 1t important.
Reasons (R) : ‘Don't use two words when one will do’ 1s the guiding principle that works.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct



Options :

5362289669. 1
5362289670. 2
5362289671. 3
5362289672. 4

Question Number : 18 Question Id : 5362282483 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289669. 1
5362289670. 2
5362289671. 3
5362289672. 4

Question Number : 19 Question Id : 5362282484 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of phases in communication development :

(A) Acta Diurna

(B) Cave paintings

(C) Wooden blocks for printing
(D) Development of languages

(E) Metal printing

Choose the correct answer from the options given below :

(1) (A). (B). (D), (C). (E) (2) (B). D). (C). (A). (E)
(3) (C). (D). (E). (A). (B) 4y (D), (E), (A). (B), (C)
Options :

5362289673. 1
5362289674. 2
5362289675. 3
5362289676. 4

Question Number : 19 Question Id : 5362282484 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) T T

B)  TE =
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(1) (A (B). (D). (O). (E) (2) (B). (D). (C). (A). (E)
(3) (). (D). (E). (A). (B) (4) (D). (E). (A). (B). (C)
Options :

5362289673. 1
5362289674. 2
5362289675. 3
5362289676. 4

Question Number : 20 Question Id : 5362282485 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List I List IT
(Mode of Communication) (Type of communication)
(A) One—to—one (I) Network (transactional)
{(B) One - to— many (IT) Intra-personal
(C) Many— to— many (ITII) Inter-personal
(D) One — to —none (IV) Mass Communication especially print

Choose the correct answer from the options given below :

(1) (A)-(I). (B)-(ID). (C)-(III), (D)-(IV)
(2) (A)-(ID). (B)-(ID). (C)-IV), (D)-(D)
(3) (A)-(III), (B)-(IV). (C)-(D). (D)-(II)
(4)  (A)-IV), B)-D. (C)-IL). (D)-IID)

Options :

5362289677. 1

5362289678. 2

5362289679. 3
5362289680. 4

Question Number : 20 Question Id : 5362282485 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A)-(I). (B)-(II), (C)-(III), (D)-(IV)

(2)  (AID. (B)-(IID). (C)-(IV). (D)-(I)

(3)  (A-IID. B)-IV). (C)-D). D)-(ID

4) (A)-(IV), (B)-(I). (C)-(II). (D)-(11I)
Options :

5362289677. 1
5362289678. 2



5362289679. 3
5362289680. 4

Question Number : 21 Question Id : 5362282486 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the actual profit when the profit on selling price 1s 25%?7

(1) 33.33% (2) 30.33%
(3) 25% (4) 20%
Options :

5362289681. 1
5362289682. 2
5362289683. 3
5362289684. 4

Question Number : 21 Question Id : 5362282486 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

iz fasha g0 W =19 25% 7 97 It =T F97 B 7

(1) 33.33% (2) 30.33%
(3) 25% (4) 20%
Options :

5362289681. 1
5362289682. 2
5362289683. 3
5362289684. 4

Question Number : 22 Question Id : 5362282487 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the remainder when 42 1s divided by 15?7

(1) 4 (2) b
(3) 8 4y 11
Options :

5362289685. 1
5362289686. 2
5362289687. 3
5362289688. 4

Question Number : 22 Question Id : 5362282487 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
451 15 T991Ta =04 9 9% 541 77

(1 4 (2) 5
(3) 8 (4) 11
Options :

5362289685. 1
5362289686. 2
5362289687. 3
5362289688. 4

Question Number : 23 Question Id : 5362282488 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the missing number?

4, -8, 16, (7). 64, —128

1 24 (2) -32
(3) 24 (4y 30
Options :

5362289689. 1
5362289690. 2
5362289691. 3
5362289692. 4

Question Number : 23 Question Id : 5362282488 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FATrRe | e T s (7) 5 W W S 1 EE S ¢
4, 8. 16, (7), 64, —128

(1) —24 (2) —-32
(3) 24 (4) 30
Options :

5362289689. 1
5362289690. 2
5362289691. 3
5362289692. 4

Question Number : 24 Question Id : 5362282489 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Sometimes. Ratio has units.
Statement II: When two ratios are equal, a proportion is formed.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement I are false

(3) Statement I is correct but Statement IT is false
(4 Statement I 1s incorrect but Statement II 1s true
Options :

5362289693. 1
5362289694. 2
5362289695. 3
5362289696. 4

Question Number : 24 Question Id : 5362282489 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A9 21 o fam o #

T (D) :  FHA-FH I e A A

o (1) : 7o 21 S S 2 3, o1 U HHEAE A A
I FYAT o SEF T R e 8§ TE I I

(1) FFIATIZAHA7F |

(2 w13 I = Tom 2 |

(3) v 15 7 g #oe I 7Ted 2 |
(4) v I e 2 g e od 2|
Options :

5362289693. 1

5362289694. 2

5362289695. 3
5362289696. 4

Question Number : 25 Question Id : 5362282490 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Co-primes are the numbers which have only 1 as their common factor.

Statement II : Factorisation is the decomposition of a number into the other numbers which

when added together will give the original number.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement I are false

(3) Statement I 1s correct but Statement IT 1s false
(4) Statement I 1s incorreet but Statement II 1s true
Options :

5362289697. 1
5362289698. 2
5362289699. 3
5362289700. 4

Question Number : 25 Question Id : 5362282490 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

#1921 FoA fro o E

Fo (I):  HE-A9TSS HEA 4 7 T S9EE UeEs 5 1w F |

w9 (II) : ToFES T i Ui 5 e T @ g § GEitad e e 2 5 v oy

ST HAT F ATAE ° R el § H WA 3O
(1) a1 A 98 # |

(2  F AT I =A T=E 7

(3) w149 & fohg o 1177 2 |

4 FREITEI:FIFE O

Options :

5362289697. 1

5362289698. 2

5362289699. 3
5362289700. 4

Question Number : 26 Question Id : 5362282491 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks :

In terms of the relationship indicated below., which word will correctly pair to replace the
questions mark?

Worse : Bad :: Doting :

(1) Reverence (2) Fond
(3) Hate (4) Dislike
Options :

5362289701. 1
5362289702. 2
5362289703. 3
5362289704. 4

Question Number : 26 Question Id : 5362282491 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F= fau o may F1 2fe °@ v A e e T R 9 T E wE g a e

i L B SUBER: LY S "P'-."E

L g 2)
(3) g (4) =
Options :

5362289701. 1
5362289702. 2
5362289703. 3
5362289704. 4

Question Number : 27 Question Id : 5362282492 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below 1s a proposition :

‘The weather is very cold today’.

Which one of the following. according to Nyava. 1s the correct option?

(A) Samanya lakshana
(B) Yogaja

(C) Jnanalakshana

(D) Sannikarsha

Choose the most appropriate answer from the options given below :

(1) (A) only (2) (B) only
(3) (C) only (4) (D) only

Options :



5362289705. 1
5362289706. 2
5362289707. 3
5362289708. 4

Question Number : 27 Question Id : 5362282492 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘3T Hiwe wgd S B
A ATAN T T &4 7 HeAiettiay 3 ° i =5 wE e 7 7

(A) HMHETE =&

(B) AT

(C) o9 @&m

(D) ==

= fo & et @ w4 3 9fE

(1) =4 (A) (2) a4 (B)
(3)  #Fad (C) (4) F=4 (D)
Options :

5362289705. 1
5362289706. 2
5362289707. 3
5362289708. 4

Question Number : 28 Question Id : 5362282493 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Arrange 1n sequence the following theory of causality in Aristotle’s philosophy :
(A) Material cause
(B) Efficient cause

(C) Formal cause
(D) Final cause

Choose the correct answer from the options given below :

(1) (A, (©). (B). (D) (2) (A (D). (B). (C)
(3 (©). (B). (A). (D) (4) (A). (B). (C). (D)
Options :

5362289709. 1
5362289710. 2
5362289711. 3
5362289712. 4



Question Number : 28 Question Id : 5362282493 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(A)  HifaF BE
(B) Heqq T
(C)  ATRITF FEO

(D)  Afg" FrEm

Hr= fo2 w1 famen @ w3 =

(1)  (A). (O). (B). (D) (2) (A). (D). (B). (C)
(3) (C). (B), (A). (D) (4) (A). (B), (C). (D)
Options :

5362289709. 1
5362289710. 2
5362289711. 3
5362289712. 4

Question Number : 29 Question Id : 5362282494 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Some examinations are too long.
Some examinations are too difficult.

Therefore, some examinations are too long and too difficult.

Statement IT : Some dogs chase cats.
All dogs have fleas.

Therefore, some cat-chasing dogs have fleas.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement I are true

(2) Both Statement I and Statement I are false

(3) Statement I is correct but Statement II i= false
(4) Statement I 1s incorrect but Statement IT is true
Options :

5362289713. 1
5362289714. 2
5362289715. 3



5362289716. 4

Question Number : 29 Question Id : 5362282494 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FoA ([):  F T w5 we A 7

I, T3 T F5d T I F5d HiaA w7 |
Fe (II) : F2 Fed Tafeem =1 diwn & # |

Tl Feal § T A 2

@, fafeert #1 dran F a F3 Foal ° g A A

TTIFA FIA F ATE § R AT § T @A I G

(1) =9 I3 =M 5251 7 |
(2) FHF IR IZE T4 7 |
(3) = I5ea & fohg e I17Tid 2 |

(4) w9 [ 31807 7 g =om 11 =71 7 |

Options :

5362289713. 1
5362289714. 2
5362289715.3
5362289716. 4

Question Number : 30 Question Id : 5362282495 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Human reason has this peculiar fate that it reaches at a stage when 1t can
neither answer certain questions nor can 1t ignore such questions.

Statement IT: Human reason, by its own nature. i1s not competent to resolve certain
guestions concerning the ultimate reality.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II 1s incorrect
(4) Statement I is incorrect but Statement IT is correct
Options :

5362289717. 1
5362289718. 2
5362289719. 3
5362289720. 4

Question Number : 30 Question Id : 5362282495 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
1= = wyE f2u o E

FoF (I): HFdF 76 F1 9% 3979 7 5 9= vH fegfa 8 w59 0 2 99 9% Fo9g 99 # A A9 50 3
FFAT 2 370 T I ST AT

Fe (II) : HHd o 3799 T=9E O 909 3979 § Fafad o 99 5 B 590 765 7

TYAF FYA F AT § G (a6 B § FEia® 39999 30 94

(1) = I #R [ &= 7 |

(2) AT I1 =21 @& =4 7 |

(8) =@ 7, Ty wuA L= 77 7 |
(49 = T 2 e a2

Options :

5362289717. 1
5362289718.2
5362289719. 3
5362289720. 4

Question Number : 31 Question Id : 5362282496 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
MOODLE is abhreviation of

(1) Modular Object-Oriented Distance Learning Environment
(2) Modular Object-Oriented Dynamic Learning Environment
(3) Modular Object-Oriented Distance Legislative Environment
(4) Modular Object-Oriented Distance Legal Environment

Options :

5362289721. 1

5362289722. 2

5362289723. 3
5362289724. 4

Question Number : 31 Question Id : 5362282496 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
MOODLE f=fafga 5 5 fea Hitra am 27

(2)  TIEEER ATeFE-ANCZS TEAHF T TEAEAAE

(3)  TTEEER Weswz-aAeLs feren ataieg v
(4) AR AesFe-FREes T wie v
Options :

5362289721. 1

5362289722. 2

5362289723. 3
5362289724. 4

Question Number : 32 Question Id : 5362282497 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Extra browser window of commercials that open automatically on browsing web pages 1s

called

(D Spam (2) Virus
(3) Phishing (4) Pop-up
Options :

5362289725. 1
5362289726. 2
5362289727. 3
5362289728. 4



Question Number : 32 Question Id : 5362282497 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) @ (2) =rmE
(3)  TwEm (4) TT-379
Options :

5362289725. 1
5362289726. 2
5362289727. 3
5362289728. 4

Question Number : 33 Question Id : 5362282498 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I: World Wide Web 1s not an example of client-server technology.

Statement IT : FTP is a service available on the internet.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 15 incorrect but Statement II 18 true
Options :

5362289729. 1
5362289730. 2
5362289731.3
5362289732. 4

Question Number : 33 Question Id : 5362282498 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



4= 7 A ffm T E

w99 (I): TS 915 98 TS —5a A1 =6 22200 76l 7 |

Fo (I1) . TF A T 527 W IUE UF T E |

STHFA FIAT o AR § S fahedt 8 ° wE I T
(1)  F= IA7 I2H &4 7 |

(@) w13 I3 o = |

(3) w1 F g FA IL70m 2 |

(4 w155 2 g v a7 2|

Options :

5362289729. 1
5362289730. 2
5362289731. 3
5362289732. 4

Question Number : 34 Question Id : 5362282499 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statements 1s/are true?

(A) Fibre optic cables are wooden fibres to provide high quality transmission.

(B) Wireless communication provides anyvtime., anywhere connection to both computers
and telephones.

(C) Mobile phones are capable of providing voice communication and also digital
messaging service.

Choose the correct answer from the options given below :

(1) {A) and (C) only (2) (B)and (C) only
(3) {A) and (B) only (4) (C)only
Options :

5362289733. 1
5362289734. 2
5362289735. 3
5362289736. 4

Question Number : 34 Question Id : 5362282499 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(&) TSR e FowH I o A S O % R

B) AP TR T S S G A GRE s w s Rl o e w A e
AT 7 |

(©)  wTe i A wefrR i T S i A R g e e e

I 27 ™ fawen @ w8 = =9

(1) 39 (A) 37 (O) (2) Fa= (B) 5 (C)
(3) A= (A) HR (B) (4) =4 (C)
Options :

5362289733. 1
5362289734. 2
5362289735. 3
5362289736. 4

Question Number : 35 Question Id : 5362282500 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following technologies :

(A) Microprocessor

(B) Transistor

() Vaccum Tube

(D) Artificial Intelligence

Arrange the above technologies of different computer generations in the order they have
been used. Start from the technology that was used 1n first generation.

Choose the correct answer from the options given below :

(1) (C). (A). (B), (D) (2) (C), (B), (A). (D)
3  (B).(C). A). D) 4 (0. (B). D). A
Options :

5362289737. 1
5362289738. 2
5362289739. 3
5362289740. 4

Question Number : 35 Question Id : 5362282500 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=ttt draER e w T

(A)  HIEFRTEE

B) iR

(C) Tramzm

(D)  FE FhgHea

fafa= Fger difeat | v $1 7 3udea mrEnfefe fawas 1 vaedt fid ¥ 9w gr w e A v
(1)  (C). (A). (B). (D) (Z) (C). (B), (A). (D)

(3) (B). (C). (A), (D) @) (C). (B), (D), (A)
Options :

5362289737. 1
5362289738. 2
5362289739. 3
5362289740. 4

Question Number : 36 Question Id : 5362282501 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The only UN treaty related to environmental 1ssues which has been ratified by all 197 UN
member states is

(1) Montreal Protocol (2) Paris Agreement
(3) Kyoto Protocol (4) Basel Convention
Options :

5362289741. 1
5362289742.2
5362289743. 3
5362289744. 4

Question Number : 36 Question Id : 5362282501 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A g2l H He(ad THAE HEE UF SHEial i °@ 7 fAEeR a9 g 6 g 197 T UE 2

(1)  =ifeas T (2) Ufm gu=E
(3) TR WiEmEE (4) =T FEIH
Options :

5362289741. 1
5362289742. 2
5362289743. 3



5362289744. 4

Question Number : 37 Question Id : 5362282502 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As of now. which of the following 1s a leading country in wind energy based electricity
generation?

(1) India (2) China
(3) France (4) Denmark
Options :

5362289745. 1
5362289746. 2
5362289747. 3
5362289748. 4

Question Number : 37 Question Id : 5362282502 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A A TS FH AT S Se91E 5 A § (i 8 H i 6 sl 8w 8 e

=

(1) w5 (2 ==
(3) W (4) =IEEE
Options :

5362289745. 1
5362289746. 2
5362289747. 3
5362289748. 4

Question Number : 38 Question Id : 5362282503 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Solar Water Still’ 1= a device to

(1) Produce potable water by using solar energy
(2) Pump water by using solar energy

(3) Generate electricity by using solar energy
(4) Produce heat using solar energy
Options :

5362289749. 1
5362289750. 2
5362289751. 3



5362289752. 4

Question Number : 38 Question Id : 5362282503 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Hwren A e v IuEw 2, TR T Heteta 8 O e o e S 20

(1) &R T % 399 g0 99 T T 6989 T F 0 |
(2) =T FH1 F I A 9 FA % A

(4) =N HA F I9AE A T I B e |
Options :
5362289749. 1
5362289750. 2
5362289751. 3
5362289752. 4

Question Number : 39 Question Id : 5362282504 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the primary air pollutant among the following :

(1) Ozone (2) Black carbon aerosols
(3) Sulphate aerosols (4) Peroxy Acetyl Nitrate (PAN)
Options :

5362289753. 1
5362289754. 2
5362289755.3
5362289756. 4

Question Number : 39 Question Id : 5362282504 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fr=feriaa 9 9 wufts ag yeeE i TR =

(1) = =[ (2) == =EE TEE
(3) =z WA (4) TReTE vEterse asee (v )
Options :

5362289753. 1
5362289754. 2
5362289755. 3
5362289756. 4



Question Number : 40 Question Id : 5362282505 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Long stretches of major rivers of India have very low Biochemical Oxvgen
Demand (BOD) values.

Statement II : In rivers oxygen 1s added into water by diffusion from air due to its turbulent
and rapid flow.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement Il are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II 1= incorrect

(4) Statement I 1s incorrect but Statement I is correct
Options :

5362289757. 1
5362289758. 2
5362289759. 3
5362289760. 4

Question Number : 40 Question Id : 5362282505 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frg = T o B

#ed (I):  9Wd i wq@ A1 % o" sl 4 AR AFEE O (e A A (5

HTST) ) =1 A SEd A w7 |
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(I) =FEIsRII=A a7 |
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Options :

5362289757. 1
5362289758. 2
5362289759. 3
5362289760. 4

Question Number : 41 Question Id : 5362282506 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Paravidya. according to the vedic tradition. implies :

(1) Knowledge based on human experience
(2) Knowledge that transcends human experience
(3) Enowledge acquired from teachers
(4) Enowledge acquired from texts.
Options :
5362289761. 1
5362289762. 2

5362289763. 3
5362289764. 4

Question Number : 41 Question Id : 5362282506 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
()  =F= A9 T SATETd 7
(2) HFE FEE R JH
(3) oz & =fa 79
(4) T " AE e

Options :

5362289761. 1
5362289762. 2
5362289763. 3
5362289764. 4

Question Number : 42 Question Id : 5362282507 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The underlying purpose of environmental education 1s to :

(A)
(B)
(C)
(D)
(E)

Adjust to environmental challenges

Help face environmental hazards

Promote individual’s eritical-thinking about emerging 1ssues
Increase public awareness and knowledge of environmental 1ssues.

Enhance problem-solving and decision-making skills in respect of handling
environmental 1ssues.

Choose the correct answer from the options given below :

(1) (A). (B). (C) only (2) (B). (C). (D) only
(3)  (C). (D). (E) only 4) (D). (E). (A) only
Options :

5362289765. 1
5362289766. 2
5362289767. 3
5362289768. 4

Question Number : 42 Question Id : 5362282507 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T e AR 328

(A) T e FHAET ® i T e |

(B) AT HEHi EaTl H HEAT A H HEEE w5 |

(C) =9d a3l % 91§ 9i9d % SHISEATEF (<o 1 s 3 |

(D)  EiET Fedl q5E1 9N § SHArEEa A1 [ 52 |

(E) e meidi qeggi @ fwed | ane-waam i FofE o1 6 S | ghg e |
= T2 ™ fawen @ w8 3 99

(1)  F== (A). (B) 37 (O) (2) == (B), (C) 371 (D)

(3) == (C). (D) 31 (E) @) Fa (D). (E) 317 (A)
Options :

5362289765. 1
5362289766. 2
5362289767. 3
5362289768. 4

Question Number : 43 Question Id : 5362282508 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



MHRD, Govt. of India, scheme ‘RUSA’ supports the following components :

(A) Upgrading autonomous colleges to the status of a University
(B) Providing maintenance grants to state Universities

(C) Setting up of new professional colleges 1n un-served and under-served areas of the
country

(D) Providing infrastructure grants to colleges and unmiversities to scale up capacity

(E) More scholarship programmes to supplement the cost of education

Choose the correct answer from the options given below :

(1) (A). (B). (D) and (E) only (2) (A). (B). (C) and (E) only
(3)  (B). (O). (D) and (E) only (4) (&), (C). (D) and (E) only
Options :

5362289769. 1
5362289770. 2
5362289771. 3
5362289772. 4

Question Number : 43 Question Id : 5362282508 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

W TR F A TR GHE T A FE A eengd § # A 92 7 gEEd TEH
FA 27

(C) 291 % 318 AN SA-9uiad &1 0 70 SIEEE Fietal il SE e F

(BE)  foan 1 = it s9fd #01 + fom afas s Fem = F o)

fr T o fepedt & | I TR
(1) === (A), (B), (D) =F (E) (2) FF4 (A). (B). (C) =7 (E)
(3) @& (B). (C). (D) 371 (E) (4) = (A), (C). (D) 317 (E)
Options :

5362289769. 1
5362289770. 2
5362289771.3
5362289772. 4



Question Number : 44 Question Id : 5362282509 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following ICT imtiatives of MHRD deal with E-governance for
institutions/universities?

(1) SAMARTH (2) VIDWAN
(3) IRINS (4) SWAYAM
Options :

5362289773. 1
5362289774. 2
5362289775.3
5362289776. 4

Question Number : 44 Question Id : 5362282509 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
UHE TEHA fAE gaeE o FoletEd 9 1 w6 6o @ A uss gewnen / favataee % e 2w
T Hetad £ 7

¥ di 1

(1) Yy (2) ‘TaEm
(3) ‘I W A oy (4) ‘=
Options :

5362289773. 1
5362289774.2
5362289775. 3
5362289776. 4

Question Number : 45 Question Id : 5362282510 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A De-novo’ institution 1s characterized by
(1) ICT enabled pedagogy
(2) focus on teaching and research in unique and emerging areas of knowledge

(3) focus on teaching and research on foreign languages and their literature
(4) state of art infrastructure

Options :

5362289777. 1
5362289778.2
5362289779. 3
5362289780. 4

Question Number : 45 Question Id : 5362282510 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
wF ‘Te-AmEr T = e B
(1) = =i 7 gaide e
(2) T % AEAE 97 I & 9 e N Iy W S Fied |
(3)  Tasell 9T R 39 OiEed o WA A Ty WS #itad w5 |
(4)  FAETIHS AR 2
Options :
5362289777. 1
5362289778. 2

5362289779. 3
5362289780. 4

Sub-Section Number : 3
Sub-Section Id : 53622899
Question Shuffling Allowed : Yes

Question Id : 5362282511 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage and answer questions from 46 to 50.

If so much of present day cultural learning depends on situation and context how do the
resulting assemblages acquire an organmsed coherence? One way this 1ssue 1s being raised 1n
recent anthropology 1s through the concern with identity, whether defined as identity of the
person of an ethnic group or of an entire nation. But identities do not swim above in the
stream of social life like amoebas 1n fermenting banana soup. If definitions of identity
mvolve a characterisation of attrbutes and a drawing of boundaries around the umts so
defined. in contrast with other units. this must have a causal context. Moreover. we know
that the search for identity varies historically, intensifying or slackening over periods of
time. Thus, a major rise occurred in the demand for identity with the advent of the
nation-state and the collateral development of nationalism. which hoped to create a unified
and 1dentifiable ‘people’. out of diverse populations with distinective identities of their own.
Recently, the demand for identities has risen once again, precisely at a time when cultural
repertolres are becoming again more heterogeneous. as people have responded to changes in
the social division of labour, in their relation to governments. in reaction to new modes of
communication. These repertoires of cultural understandings and practices do not easily fit
any traditional notion of culture as an integral and integrated set of forms and meanings.

Sub questions

Question Number : 46 Question Id : 5362282512 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1z the focal 1ssue 1n the present day cultural learning?

(1) Unending discussions on it (2) Contextual clarity

(3) Anthropological concern (4) The need to organise the 1ssue properly



Options :

5362289781. 1
5362289782.2
5362289783. 3
5362289784. 4

Question Number : 47 Question Id : 5362282513 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The identity has a tendency to have

(1) Different attributes from others

(2) Coherence with other units

(3) Undistinguishable boundaries

(4) The movement above the stream of social life

Options :

5362289785. 1
5362289786. 2
5362289787. 3
5362289788. 4

Question Number : 48 Question Id : 5362282514 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Historically the search for identity has been of

(1) Uniform continuity (2) Slackening of culture
(3 Intermittent intensity (4) Illogical motives
Options :

5362289789. 1
5362289790. 2
5362289791. 3
5362289792. 4

Question Number : 49 Question Id : 5362282515 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The advent of nationalism led to

(1) Competing 1dentities

(2) Single 1dentity across the nation

(3) The emergence of a unified cultural repertoire

(4) Umty within diverse identities

Options :

5362289793. 1
5362289794. 2
5362289795. 3
5362289796. 4

Question Number : 50 Question Id : 5362282516 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The new cultural understanding does not fit into the traditional notion of culture due to

(1) New modes of communication

(2) Traditional social divisions of labour

(3) Integrated sets of meanings
(4) The creation of a strong nation-state
Options :

5362289797. 1
5362289798. 2
5362289799. 3
5362289800. 4

Question Id : 5362282511 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362282512 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FAAH THA H TR OE AT W FE g5 a4 27

(1) 36 92 W 34 =40 (2) T=Y TEH T
(3)  FeTHE TOER (4) TH T F A T H TS F H AT
Options :

5362289781. 1
5362289782. 2
5362289783. 3
5362289784. 4

Question Number : 47 Question Id : 5362282513 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEE H EAfEEd T e e weoa
(1) == = fa= 7o

(2) 9 THEA H HEEAA

(3) s HEm

(4)  AHITAH =G 9W Fl B5dE 9 T



Options :

5362289785. 1
5362289786. 2
5362289787. 3
5362289788. 4

Question Number : 48 Question Id : 5362282514 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UfdRTE &9 H YsaH § g § O R ared e i vaie w5l B e

(1)  TFEAE e (2) wEpi i oo
(3)  mhEm diga (4) FTEIEE T
Options :

5362289789. 1
5362289790. 2
5362289791. 3
5362289792. 4

Question Number : 49 Question Id : 5362282515 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEATE % IENT & w0 FefeiEd 5
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(3) T ugﬂr{m Hiug_nﬂ-im F9 7] 359
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Options :

5362289793. 1
5362289794. 2
5362289795. 3
5362289796. 4

Question Number : 50 Question Id : 5362282516 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



T TR AFET EfatEd § s o SR f T gRen & 9gEd 96 2

(1) A
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(3) AT = THRT TR
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Options :

5362289797. 1
5362289798. 2
5362289799. 3
5362289800. 4

PART II Labour Welfare
Section Id : 53622834
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 536228100
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362282517 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The statement “T love the company. I am working for. I love my job, I am a learning state
and I am growing because of my organisation and so I will give my company the best in

return” 18 associated with

(1) The Eiffel Tower Culture
(3) The Incubator Culture

Options :

5362289801. 1
5362289802. 2
5362289803. 3
5362289804. 4

The Family Culture
The Guided Missile Culture



Question Number : 51 Question Id : 5362282517 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289801. 1
5362289802. 2
5362289803. 3
5362289804. 4

Question Number : 52 Question Id : 5362282518 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Minimum requirement about membership of a Trade Union.” as Section 9A. inserted by
way of an amendment in the Trade Unions Act. 1926. came into force from :

(1) 09t January, 2020 (Z) 09 January, 2002
(3) 015t April, 2002 (4) 01 July, 2001
Options :

5362289805. 1
5362289806. 2
5362289807. 3
5362289808. 4

Question Number : 52 Question Id : 5362282518 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
-1 il Agerdl i gan e F Head U 42 g wiufan, 1926 9 w@9niaa g o Ad g |
i | w2 Heiifera e foe a3 yad i s

(1) 0 F94d, 2020 (2) 9ail, 2002
(3) 1 U, 2002 (4) 1518, 2001
Options :

5362289805. 1
5362289806. 2
5362289807. 3
5362289808. 4

Question Number : 53 Question Id : 5362282519 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following human resource forecasting techniques 1s considered as the ‘quickest’
forecasting technique?

(1) Managerial Judgement (2) Ratio-Trend Analysis
(3) Delphi technique (4) Regression analysis
Options :

5362289809. 1
5362289810. 2
5362289811. 3
5362289812. 4

Question Number : 53 Question Id : 5362282519 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

f=t 1 grHa HaaE aie T de T d e 4 H R sfreitg qaique dates qu sl 27

(1)  gesrERra fofa (2) sFuTE s e
(8) eI aafi= (4) fdre et
Options :

5362289809. 1
5362289810. 2
5362289811. 3
5362289812. 4

Question Number : 54 Question Id : 5362282520 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Selection criteria for selection of staff for international assignment are broadly categories
under two categories namely: individual and situation. Which of the following 1s covered

under the situation critera?

(1) Language (2) Family requirements
(3) Technical ability (4) Croas-Cultural suitability
Options :

5362289813. 1
5362289814.2
5362289815. 3
5362289816. 4

Question Number : 54 Question Id : 5362282520 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
SIS HHEYE o fol =20k & 999 & fou =4 geee d g &1 i 8 sl st s feafa)
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(1) a7 (2)  rfEfE s
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Options :

5362289813. 1
5362289814. 2
5362289815. 3
5362289816. 4

Question Number : 55 Question Id : 5362282521 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The provision relating to ‘Subsistence allowance’ finds place under which one of the following

legislations?

(1) The Industmal Disputes Act, 1947
(2) The Industral Employment (Standing Orders) Act, 1946
(3) The Trade Unions Act. 1926

(4) The Plantation Labour Act, 1951
Options :
5362289817. 1
5362289818. 2
5362289819. 3
5362289820. 4

Question Number : 55 Question Id : 5362282521 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Pt s & e 9 1 S P 2 o s i e v 37
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(4) Oy em sifafEm, 1951

Options :

5362289817. 1
5362289818.2
5362289819. 3
5362289820. 4

Question Number : 56 Question Id : 5362282522 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Based on the statement given below, choose the correct option :

‘Changes 1n product demand that inerease the product price will raise the marginal revenue
product of labour and therefore. increase the demand for labour.’

(1) The statement is wrong
(2) The statement 1s correct
(3) The demand for product has nothing to do with marginal revenue product of labour

(4) Even if the demand for product increases. the marginal physical product of labour
shall remain constant

Options :

5362289821. 1

5362289822. 2

5362289823. 3

5362289824. 4

Question Number : 56 Question Id : 5362282522 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
5362289821. 1
5362289822. 2

5362289823. 3
5362289824. 4

Question Number : 57 Question Id : 5362282523 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following iz left out while calculating natural rate of Unemployment?

(1) Seasonal Unemployvment (2) Frictional Unemployment
(3) Structural Unemployment (4) Cyeclical Unemployment
Options :

5362289825. 1
5362289826. 2
5362289827. 3
5362289828. 4

Question Number : 57 Question Id : 5362282523 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SIS o T 28 & uftsed & %8 | e 0 4 fg e o s 27

(1) e ST (2) TwaTEe sErs
(3)  HTHTHE S (4) M ST
Options :

5362289825. 1
5362289826. 2
5362289827. 3
5362289828. 4

Question Number : 58 Question Id : 5362282524 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Under the provisions of the Industrial Employment (standing orders) Act, 1946, a certified
standing order shall not be modified until the expiry of which period from the date. the
certified standing order came into operation?

(1) Two months (2) Three months
(3 Si1x months {(4) Twelve months
Options :

5362289829. 1
5362289830. 2
5362289831. 3
5362289832. 4

Question Number : 58 Question Id : 5362282524 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SAvEfire frarse (vardl srem) sifafEm, 1046 % 39adi & AeH Bl g s sE9  agw 79 6
Aria 4 e waarats & e s ae surata 98 e smom?

(1) EHE (2) H HE
(3) &: Hiz (4) <EHEHRE
Options :

5362289829. 1
5362289830. 2
5362289831. 3
5362289832. 4

Question Number : 59 Question Id : 5362282525 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following subjects 1s not enumerated in the ‘Concurrent List’ of Indian
Consitution?

(1) 01l fields

(2) Trade Unions

(3) Factories

(4) Vocational and Technical Training of labour

Options :

5362289833. 1
5362289834. 2
5362289835. 3
5362289836. 4

Question Number : 59 Question Id : 5362282525 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362289833. 1
5362289834. 2
5362289835. 3
5362289836. 4

Question Number : 60 Question Id : 5362282526 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statement 1s correct to define ‘child’ as per the provisions of the child
and Adolescent Labour (Prohibition and Regulation) Act. 19867

(1) A person who has not completed his fourteenth vear of age:

(2) A person who has not completed such age as may be specified in the Right of
Children to Free and Compulsory Education Act. 2009:

(3) A person who has not completed his fourteenth vear of age or such age as may be
specified 1n the Right of Children to Free and Compulsory Education Act. 2009,
whichever 1s more:

(4) A person who has not completed his fourteenth vear of age or such age as may be
specified in the Right of Children to Free and Compulsory Education Act. 2009,
whichever 1z less.

Options :

5362289837. 1
5362289838. 2
5362289839. 3
5362289840. 4

Question Number : 60 Question Id : 5362282526 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
5362289837. 1
5362289838. 2

5362289839. 3
5362289840. 4

Question Number : 61 Question Id : 5362282527 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
As per the provisions of the Minimum Wages Act, 1948, Which of the following authority
advises the appropriate government for fixing and revising minimum wages and
coordinating the work of the committees and sub-committees constituted under the Act?

(1) The Advisory Committee (2) The Central Advisory Board
{3) Adwvisory Board {4) The Central Government
Options :

5362289841. 1
5362289842.2
5362289843. 3
5362289844. 4

Question Number : 61 Question Id : 5362282527 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
=AY gerEdl SUHTE, 1948 % 30aYl & SER: TAEfafad O 3 wa a1 i St 9T o Hay
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Options :

5362289841. 1
5362289842. 2



5362289843. 3
5362289844. 4

Question Number : 62 Question Id : 5362282528 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Shops and Commercial Establishment Legislation comes under which one of the categories
of Labour Legislations?

(1) Welfare Legislations (2) Social Security Legislations
(3) Protective Labour Legislations (4) Wage Legislations
Options :

5362289845. 1
5362289846. 2
5362289847. 3
5362289848. 4

Question Number : 62 Question Id : 5362282528 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o
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Options :

5362289845. 1
5362289846. 2
5362289847. 3
5362289848. 4

Question Number : 63 Question Id : 5362282529 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Under the provisions of the Payment of Bonus Act, 1965, an emplovee of an establishment.
shall be entitled for bonus to be paid by the employer provided the employvee has worked for
a minimum period of how many days in the establishment in a financial year?

(1) Thirty Days (2) Sixty Days
(3) Ninety Days (4) Two hundred forty Days
Options :

5362289849. 1
5362289850. 2
5362289851. 3
5362289852. 4



Question Number : 63 Question Id : 5362282529 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289849. 1
5362289850. 2
5362289851. 3
5362289852. 4

Question Number : 64 Question Id : 5362282530 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ranking employees from the best to worst on a particular trait. choosing highest then
lowest, until all are ranked is termed as :

(1) Graphic Rating Scale (2) Alternation Ranking Method
(3) Paired Comparison Method (4) Forced Distribution Method
Options :

5362289853. 1
5362289854. 2
5362289855. 3
5362289856. 4

Question Number : 64 Question Id : 5362282530 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289853. 1
5362289854. 2
5362289855. 3
5362289856. 4



Question Number : 65 Question Id : 5362282531 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The process for enabling employees to better understand and develop their career skills and
interests. and to use these skills and interest more effectively 1s called as

(1) Career Development (2) Career Management
(3) Career Planning (4) Career Counselling
Options :

5362289857. 1
5362289858. 2
5362289859. 3
5362289860. 4

Question Number : 65 Question Id : 5362282531 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289857. 1
5362289858. 2
5362289859. 3
5362289860. 4

Question Number : 66 Question Id : 5362282532 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What percentage of the net profit of the company. the top managers are entitled for their
compensation under the Companies Act, 20137

(1) 4 Percent (2) 11 Percent
(3) 20 Percent {4y 10 Percent
Options :

5362289861. 1
5362289862. 2
5362289863. 3
5362289864. 4

Question Number : 66 Question Id : 5362282532 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

5362289861. 1
5362289862. 2
5362289863. 3
5362289864. 4

Question Number : 67 Question Id : 5362282533 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which approach suggests that there 1s no best way to handle any of the management
problems and there 1= no best organisational structure to suit all situations?

(1) Operational Approach (2) Contingency Approach
(3) Case/empirical Approach (4) System Approach
Options :

5362289865. 1
5362289866. 2
5362289867. 3
5362289868. 4

Question Number : 67 Question Id : 5362282533 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
forar i =1 1 gz fan smen 2 o foreft weterehi s = o) =1 12 5aTem 0 3 2 si afifeeda
% S 15 Heledy FEA il HeEA FE 2 |

() S R (2) s gfew
(3)  HHell/ s 9aqeT gfesh (@) womeh g
Options :

5362289865. 1
5362289866. 2
5362289867. 3
5362289868. 4

Question Number : 68 Question Id : 5362282534 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Who among the following is called “the father of brainstorming?

(1) Alex F. Oshorn (2) W. Edwards Deming
(3) Frank and William Gilbreth (4) Thomas Peters
Options :

5362289869. 1
5362289870. 2
5362289871. 3
5362289872. 4

Question Number : 68 Question Id : 5362282534 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
et 1 oy T e o1 s | ST 27

(1)  Ueidq U, HEEH (2) =ee, UEded =i
(3) Wk 3t faferm fiermd (4) omHg g
Options :

5362289869. 1
5362289870. 2
5362289871. 3
5362289872. 4

Question Number : 69 Question Id : 5362282535 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A Leader who guide or motivate their followers in the direction of established goals by
clarifying role and task requirements is :

(1) Transformational Leader (2) Charismatic Leader
(3) Transactional Leader (4) Facilitative Leader
Options :

5362289873. 1
5362289874.2
5362289875. 3
5362289876. 4

Question Number : 69 Question Id : 5362282535 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e et S e 3w Sl ) eTe w7 s sl w1 gd i el < fren O aeiafve
Sttt ST 2, 36 FH1 it e S 27

(1) s wie (2) =T wie
(3)  ZeFIHE e (4) Huferfa ofre
Options :

5362289873. 1
5362289874. 2
5362289875. 3
5362289876. 4

Question Number : 70 Question Id : 5362282536 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Giving employees more authority to make decisions is known as :

(1) Authority (2) Responsibility
(3) Employee Empowerment (4) Decentralization
Options :

5362289877. 1
5362289878. 2
5362289879. 3
5362289880. 4

Question Number : 70 Question Id : 5362282536 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fta =4 =1 ufern 9 Fd=nioa =1 sl wifasn s asama 2

(1) i (2) FaEd
(3) = wyifera (4) T
Options :

5362289877. 1
5362289878. 2
5362289879. 3
5362289880. 4

Question Number : 71 Question Id : 5362282537 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



As per Vroom's Expectancy Theory of motivation ‘Instrumentality’ relates?

(1) Efforts to Performance

(2) Efforts with first level outcome

(3) Performance with first level cutcome

(4) First level ocutcome to second level outcome
Options :

5362289881. 1
5362289882. 2
5362289883. 3
5362289884. 4

Question Number : 71 Question Id : 5362282537 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g o TN % gearen g o sun s (Segiefad ) dafi 2

(1)
(2)
(3)
(4)
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Options :

5362289881. 1
5362289882. 2
5362289883. 3
5362289884. 4

Question Number : 72 Question Id : 5362282538 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Based on the statement given below, choose the correct option :

‘In the case of decrease in product demand. marginal revenue product of labour will decline.’

(1)
(2)
(:3)
(4)

Options :

The statement 1s wrong
The statement 1s correct
The demand for product has nothing to do with marginal revenue product of labour

Even if the demand for product decreases. the marginal physical product of labour
shall remain constant.

5362289885. 1
5362289886. 2
5362289887. 3
5362289888. 4



Question Number : 72 Question Id : 5362282538 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 fau e & e w9 fases =4
eqre 1 i ) ot ) feafa o, o 5 digra vereg 3o d ez st
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2 g Ed R

(3)  3IIE % 971 o1 99 & HgTd TERE O wlE gay 421 2|
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Options :

5362289885. 1
5362289886. 2
5362289887. 3
5362289888. 4

Question Number : 73 Question Id : 5362282539 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

System theory of organisation was given by

(1) Max Weber (2) Chester Barnard
(3) Robert Owen (4) F.W. Taylor
Options :

5362289889. 1
5362289890. 2
5362289891. 3
5362289892. 4

Question Number : 73 Question Id : 5362282539 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HIT34 o quiTed TaETd o giaares 4|

(1)  Ha9 Ja (2) ST EATE
(3) T e (4) U Zse], dol
Options :

5362289889. 1
5362289890. 2
5362289891. 3



5362289892. 4

Question Number : 74 Question Id : 5362282540 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SOBC model 1s used to identify the major variables in organisational behaviour and to show

how they relate to another. Choose from the following. the alternative that gives the correct

terms for the letters SOBC

(1) Structure, Organisation. Behaviour, Cognition

(2) Stimulus, Organisation. Behaviour, Control

(3) Stimulus, Organism. Behaviour, Consequences
(4) Structure, Opportunity, Behaviour, Consequences
Options :

5362289893. 1
5362289894. 2
5362289895. 3
5362289896. 4

Question Number : 74 Question Id : 5362282540 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
oy 37 = #fi giEet = v GrEaenE saaen § wgi aftaed ) veer 799 s 97 29 for R smar 2 1

4 v gt A oy wedifaa 31 Ffefea e 6 & v o1 < i aferase & sifuda o =19 .
(1)  =a, e, T, i

@) Tegem, smfmEsyE, el #dw

(3)  Teeyem, stitvesiom, frefarn, sdeEbns

(4) =, AU HA, TSR, FHEE

Options :

5362289893. 1
5362289894. 2
5362289895. 3
5362289896. 4

Question Number : 75 Question Id : 5362282541 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Rewvitalising the competitive position of a company through innovativeness learning and
strong organisational commitment relating to organisational change 1s known as :

(1) Re-invention (2) Re-orentation
(3) Strategic Intent (4) Strategic Development
Options :

5362289897. 1
5362289898. 2
5362289899. 3
5362289900. 4

Question Number : 75 Question Id : 5362282541 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
et sl ) wfereaedi fearfa o =arnm, sifermy siw wmsarens wiads @ wafad wee draErens ufdsrgd %
Hiery © AETE A ] a2

(1) qH: EHIEL=) 2 M VIEGIRE
(3)  wHEHITIF ATIA (4) =wraHifae fawm
Options :

5362289897. 1
5362289898. 2
5362289899. 3
5362289900. 4

Question Number : 76 Question Id : 5362282542 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following have distinguished four different phases in the business
environment for multinational corporations based on the eriteria of price. quality. product
line and unigueness

(1) Bartlett and Ghosal (2) Heckscher and Ohlin
(3) Adler and Morgan (4) Bolwyn and Kumpe
Options :

5362289901. 1
5362289902. 2
5362289903. 3
5362289904. 4

Question Number : 76 Question Id : 5362282542 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frrforfiaa O 4 foraa Fma rae, wEae arga i HEEwEd 9HEE] + S9R W S gEiias T &l 9w
[EERFRRRECEA R

(1)  =Eele 3 =ET (2) EFaR 3w siefem
(8)  uEeR S HIH (4) et i e
Options :

5362289901. 1
5362289902. 2
5362289903. 3
5362289904. 4

Question Number : 77 Question Id : 5362282543 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following 1s associated with the Theory of Andragogy relating to Learning?

(1) Edward de Bono (2) L.S. Vygotsky
(3) (.5. Reynolds (4) DMalcom Enowles
Options :

5362289905. 1
5362289906. 2
5362289907. 3
5362289908. 4

Question Number : 77 Question Id : 5362282543 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
freferfiaa o 5 o st | wafaa vzemfl fage 3 weafaa 27

(3)  ufi.un. Hiez (4) BoH 1
Options :

5362289905. 1
5362289906. 2
5362289907. 3
5362289908. 4

Question Number : 78 Question Id : 5362282544 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to whom, multiculturalism and geographic dispersion are the two factors that
differentiate between domestic and multinational corporations?

(1) IN.J. Adler (2) F.Acuff
(3) Robert Reich (4) P.V. Morgan
Options :

5362289909. 1
5362289910. 2
5362289911. 3
5362289912. 4

Question Number : 78 Question Id : 5362282544 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

~
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Options :

5362289909. 1
5362289910. 2
5362289911. 3
5362289912. 4

Question Number : 79 Question Id : 5362282545 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As per the classification of trade unions made by Robert F. Hoxie, the ‘Business Unionism’ 1s
alzo known as :

(1) Bread and Butter Unionism (2) Friendly Unionism
(3) Revolutionary Unionism (4) Predatory Unionism
Options :

5362289913. 1
5362289914. 2
5362289915. 3
5362289916. 4

Question Number : 79 Question Id : 5362282545 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



s g, 2vafl g 22 g 3 anife 3 srEn sgadr g w0 e o 27

(1) T a8 g (2) Bl wefien
(3)  aIfaEl g (4) el At
Options :

5362289913. 1
5362289914. 2
5362289915. 3
5362289916. 4

Question Number : 80 Question Id : 5362282546 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following 1= associated with the i1dea that human personality progresses
along a continuum from immaturity as an infant to maturity as an adult?

(1) Chris Argyris (2) Daniel Levinson
(3) Erik Erikson (4) Sigmund Freud
Options :

5362289917. 1
5362289918. 2
5362289919. 3
5362289920. 4

Question Number : 80 Question Id : 5362282546 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Freaferfia 4 & #9 34 foem | w50 2 % wrea % e v 6 sofoea § dee 6 afosa
Aiddd % #4 1 faerfaa sidar a7

(1)  fwFm uhptfm 2 e afgsA
(3) Ul wiEA (4) e wrae
Options :

5362289917. 1
5362289918. 2
5362289919. 3
5362289920. 4

Question Number : 81 Question Id : 5362282547 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following has given the concept of the structure of psyche in terms of 1d, ego
and superego?

(1) 5. Schachter (2) Carl Yung
(3) Sigmund Freud (4) Eric Berne
Options :

5362289921. 1
5362289922.2
5362289923. 3
5362289924. 4

Question Number : 81 Question Id : 5362282547 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frferfam 4 5 fRed 22, o7em o TOeE (32, 36 SR g o Hed A o weEa ) sEanon €127

(1) U, Thad (2) FE I
(3)  fomez wrre (4) i
Options :

5362289921. 1
5362289922. 2
5362289923. 3
5362289924. 4

Question Number : 82 Question Id : 5362282548 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A method for determining compensation for the international staff, where it takes all costs
incurred by the employee in both the home country and host country, 1s known as :

(1) Balance Sheet System (2) Budget System
(3) Home-net System (4) Local going-rate System
Options :

5362289925. 1
5362289926. 2
5362289927. 3
5362289928. 4

Question Number : 82 Question Id : 5362282548 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



st s ) afagfd Fafor faf, e adend g e iz o 2o 26§ o e i
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(1) oo 93 gorref] (2) w12 orref]
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Options :

5362289925. 1
5362289926. 2
5362289927. 3
5362289928. 4

Question Number : 83 Question Id : 5362282549 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Based on the statement given below. choose the correct option :

‘Man 1s believed to have an instinctive urge by which he strives to remove the suffering of
others and promote their well being.” This concept is imbibed in which theory of labour
welfare?

(1) Trusteeship Theory (2) Public Relations Theory
(3) Philanthropic Theory (4) The Functional Theory
Options :

5362289929. 1
5362289930. 2
5362289931. 3
5362289932. 4

Question Number : 83 Question Id : 5362282549 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fr=ferfiad sum = smar w w8 ey 94
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(1) =i faam (2) o ueTE faEm
(3)  wageTd fagra (4) wFEiEs fagrd
Options :

5362289929. 1
5362289930. 2
5362289931.3
5362289932. 4



Question Number : 84 Question Id : 5362282550 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The ‘Out Worker' 1s defined under which of the following legislation?
(1) The Industrial Employment (Standing Orders) Act. 1946
(2) The Contract Labour (Regulation and Abolition) Act, 1970
(3) The Employees’ Compensation Act, 1923
(4) The Payment of Wages Act. 1936

Options :

5362289933. 1
5362289934. 2
5362289935. 3
5362289936. 4

Question Number : 84 Question Id : 5362282550 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
freAferfiaa o & fom HE o s=ia =3m3e a9 i uftaria faen 27
(1)  sivenie fqamem (zaef sten) sfafEag, 1946
(2) 31 g4 (fafrm g 3eared) sitafm, 1970
(3)  wd=dl ufde srfafran, 1923
(4)  wergd FEref sfafan, 1936
Options :
5362289933. 1
5362289934. 2

5362289935. 3
5362289936. 4

Question Number : 85 Question Id : 5362282551 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which year the committee on conventions was set up in India?

(1) 1924 (2) 1934
(3) 1944 (4) 1954
Options :

5362289937. 1
5362289938. 2
5362289939. 3
5362289940. 4



Question Number : 85 Question Id : 5362282551 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A o wiqey gad Jiafa = 12 w5 oy

(1) 1924 (2) 1934
{(3) 1944 (4) 1954
Options :

5362289937. 1
5362289938. 2
5362289939. 3
5362289940. 4

Question Number : 86 Question Id : 5362282552 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In which year, the Rule 81 (A) was added to the Defence of India Rules?

(1) 1939 (2) 1942
(3) 1945 (4) 1947
Options :

5362289941. 1
5362289942. 2
5362289943. 3
5362289944. 4

Question Number : 86 Question Id : 5362282552 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e i Famraed 4 fam 81(A) fora ad o e fren mn?

(1) 1939 (2) 1942
(3) 1945 (4) 1947
Options :

5362289941. 1
5362289942. 2
5362289943. 3
5362289944. 4

Question Number : 87 Question Id : 5362282553 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to the Trade Unions Act, 1926. a registered trade union can change 1ts name only
when 1t obtains the consent of not less than :

(1) One-fourth of its total number of members
(2) One-third of its total number of members
(3) One-half of 1ts total number of members

(4) Two-thirds of its total number of members

Options :

5362289945. 1
5362289946. 2
5362289947. 3
5362289948. 4

Question Number : 87 Question Id : 5362282553 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
o2 giHa wfafEm, 1926 F S92 Feiigd ¢2 gFHaa 594 A 4 sged Fofefiad 4 | faadh weafd

W12 F1 F HFA 27
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(4)  \ee F Fa e w b e
Options :
5362289945. 1
5362289946. 2
5362289947. 3
5362289948. 4

Question Number : 88 Question Id : 5362282554 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Transaction Analysis 1s associated with

(1) Intrapersonal Conflict
(2) Interpersonal Conflict
(3) Union Management Conflict

(4) Inter Group Conflict
Options :



5362289949. 1
5362289950. 2
5362289951. 3
5362289952. 4

Question Number : 88 Question Id : 5362282554 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Hengen favermy fhad dafad 27

(1)  wauIafoes 5
(2) AAIg T 22
(3)  gfF wEeEa 5

(4) W HYEE 58
Options :
5362289949. 1
5362289950. 2
5362289951. 3
5362289952. 4

Question Number : 89 Question Id : 5362282555 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Allowing past performance appraisal ratings to unjustifiably influence current ratings is

known as:

(1) Rater effect (2) Primacy effect

(3) Spillover effect (4) Status effect
Options :

5362289953. 1
5362289954. 2
5362289955. 3
5362289956. 4

Question Number : 89 Question Id : 5362282555 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) T 997 (2)  WEEA I
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Options :

5362289953. 1
5362289954. 2
5362289955. 3
5362289956. 4

Question Number : 90 Question Id : 5362282556 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who made the classification of industrial relations systems as :

(a) the Peasant-lord system: (b) the primitive market system; (¢) the small manufactory
system; (d) the life-time commitment system: (e) the bipartite system: (f) the tripartite
system; (g) the corporatist-bureaucratic system; (h) the mobilizing system: and (1) the

socialist system?

(1) Richard Peterson (2) John T. Dunlop
(3) Robert Cox (4) H.S. Kirkaldy
Options :

5362289957. 1
5362289958. 2
5362289959. 3
5362289960. 4

Question Number : 90 Question Id : 5362282556 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289957. 1
5362289958. 2
5362289959. 3
5362289960. 4

Question Number : 91 Question Id : 5362282557 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  Administrative heritage 1s a barrier to the process of transformation of a
domestic company into a multinational corporation.

Reason (R) : Proper understanding of the admimstrative heritage of a company may be

the key to initiating the transformation process.

In the light of the above statements, choose the most appropriate answer from the options

g1ven below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct

Options :

5362289961. 1
5362289962. 2
5362289963. 3
5362289964. 4



Question Number : 91 Question Id : 5362282557 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362289961. 1
5362289962. 2
5362289963. 3
5362289964. 4

Question Number : 92 Question Id : 5362282558 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason R.

Assertion (A): A person who makes things happen believes 1n his objectives and he will
see to it that they are met regardless of the difficulties.

Reason (R): Such a person 1= fully alerted to competition and 1s determined to keep so

far in front of the competition that cannot overtake him

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

5362289965. 1
5362289966. 2
5362289967. 3
5362289968. 4

Question Number : 92 Question Id : 5362282558 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A) 3R (R) aH1 4 & 300 (R). (A) F1 ¥l sgrem 21
(2)  (A) #E (R) aH A & WA (R). (A) i HE s F9 2
(3) (A HE 2t (R) ¥al A1 2

4) (A ¥ AE 2o R) 5 2

Options :

5362289965. 1
5362289966. 2
5362289967. 3
5362289968. 4

Question Number : 93 Question Id : 5362282559 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion A and the other is labelled as
Eea=on R.

Assertion (A):  Wages and hours of work. according to Bargaining theory of wages, are

ultimately determined by the relative bargaining strength of employers

and the workers.

Reason (R) : The theory advocates that there 13 an upper limit and a lower limit of wage
rates and the actual rate of wages between these limits are determined by

the bargaiming power of employers and workers.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct

Options :

5362289969. 1
5362289970. 2
5362289971.3
5362289972. 4

Question Number : 93 Question Id : 5362282559 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A1l G e fou e 2| v 1 sfisad (A) 3R g6 F1 a5 (R) Fa1 =12

AR (A) uigd] & Higarsil Fard o SEr gsigll 3 #1d o 52 #1 SR Sdd: s #i
FU R 1 A HiEarsl] U & S 9w 2|

@ (R) : 74 firgra O Fshrerd 21 18 2 T mergdl i 20 o) I R gEa i 2 2 s g g Hl

HrsAi & wed woigdl 1 arafas 2 # Ruafo e i sden g disash 4
STl 2

IR A1 o el H i faesedi 4 8 waifaes 30 39 94 |

(1)  (A) 3 (R) HI 8581 2 311 (R). (A) i 9 =z 2
2 (A R ®) T 8 8w R). (A) Fi w8 swen 46 2)
(3)  (A) & 2yt (R) e 421 21

4 (A T 2w R) 97 2

Options :

5362289969. 1
5362289970. 2
5362289971. 3
5362289972. 4

Question Number : 94 Question Id : 5362282560 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Given below are two statements : One 1s labelled as Assertion A and the other is labelled as
Rea=on R.

Asszertion (A):  Collective Bargaining provides for procedural and substantial rules.
Procedural rules concern mechanism for dealing with interpretations and
implementation of agreements as well as resclving conflicts. whereas.
substantial rules concern the substance of agreement. in both market and

managerial relationships.

Reason (R) : Collective Bargaining is viewed as a process of give and take rather than

‘giving 1n’

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct

Options :

5362289973. 1
5362289974. 2
5362289975. 3
5362289976. 4

Question Number : 94 Question Id : 5362282560 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  (A) 31 (R) 5H1 761 2 31 (R). (A) Fi @l == 2
(20 (A) 3 (R) 7H1 #E & W (R), (A) 1A srEn 39 2
(3) (A Hd 29 (R) 561 741 21

@ () w2y ®) R
Options :
5362289973. 1
5362289974. 2
5362289975.3
5362289976. 4

Question Number : 95 Question Id : 5362282561 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements : One 1s labelled as Assertion A and the other i1s labelled as
Reason R.

Assertion (A) : There 1s a welcome realization about the need to transform the traditional
adversarial industrial relations into a cooperative mould to build a new.

vibrant and competitive economy/enterprise.

Reason (R) : Enterprises have realized that 1t 1s essential for their survival in this

competitive age.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct

Options :

5362289977. 1
5362289978. 2
5362289979. 3
5362289980. 4

Question Number : 95 Question Id : 5362282561 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1=t &1 oo fau g @) wep o) sifvee (A) SR g 1 @ (R) a1 2

s (A) : 47 FATA A1 2 o 39 A7 Fl GUs SH oF 2 6 Iraien w9 | gfdsd st
Al A weE G A won fe 9@ e e i, ofida s afed
Sy ST [ FE ST W

% (R) : il 4 39 A w Au fow @ B ogw ufmd g 4 s+ fouogE
HTETIF 2 |

39 A1 % Arelish § e fasredt § 8 waffaer suge 399

(1) (A 3R (R) 3T ¥ 2 30 (R). (A) ) ol sz 21
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Options :
5362289977. 1
5362289978. 2
5362289979. 3
5362289980. 4

Question Number : 96 Question Id : 5362282562 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are some of the conventions adopted by ILO. Arrange those conventions in a
sequence from the earliest to latest according to the yvears of adoption.

(A) The Protection of Wage Convention

(B) The Minimum Wage Fixing Machinery Convention

(C) The Holidays with Pay Convention

(D)  The Minimum Wage Fixing Machinery (Agriculture) Convention

Choose the correct answer from the options given below :

(1) (A). (C). (B). (D)
(2) (B). (C). (A). (D)
(3) (B). (D). (A). (C)
(4) (A). B). (D). (C)

Options :

5362289981. 1
5362289982. 2
5362289983. 3
5362289984. 4

Question Number : 96 Question Id : 5362282562 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A1 74 et 31 g1 st g i o o 1 e s 3 e % srER S e 6 e d
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(1) (A (C). (B). D)
(2)  (B).(C), (A). (D)
(3)  (B). D). (A). ()

(4) (A).B). D). (©)
Options :
5362289981. 1
5362289982. 2
5362289983. 3
5362289984. 4

Question Number : 97 Question Id : 5362282563 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps in proper sequence relating to HR Planning :

(A) Forecast of Personnel needs and supplies

(B) Defining organizational objectives and policies
(C) Control and evaluation

(D) H.R. Programming

(E) HRP implementation

Choose the correct answer from the options given below :

(1) (A). (B). (D). (E). (C)
(2) (D). (E). (B). (C). (&)
(3) (B). (D). (A). (C). (E)

(4) (B). (A). (D). (E). (C)

Options :

5362289985. 1
5362289986. 2
5362289987. 3
5362289988. 4

Question Number : 97 Question Id : 5362282563 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



U FH19A AEEA1H Haitad et = #13fEq %08 oo
(&) =il strEvaEdis S g %1 EHH

(B)  HI34 % Fevdi 01 gl i =0 ufeariea s

(C)  Tqoam i goara

(D)  HFE HErEE FrEdE Hui

(E) M= 58 F14% F1di=ga

1 faw o Faspedi 8 3w 3en 5o

(1) (A (B). (D). (E), (C)
(2) (D). (E). (B). (C). (&)
(3)  (B). D). (A). (C). (E)

(4)  (B). (A). D). (E), (C)

Options :

5362289985. 1
5362289986. 2
5362289987. 3
5362289988. 4

Question Number : 98 Question Id : 5362282564 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are the matters provided in different schedules of the Employee’s Provident
Fund and Miscellaneous Provisions Act, 1952. Arrange them in a sequence from Schedule I
to IV as provided in the Act.

(A) Matters for which provision may be made 1n the Pension Scheme
(B) Matters for which provision may be made 1n a Scheme
(C) Matters to be provided for in the Employees’ Deposit-linked Insurance Scheme

(D)  Last of Industry notified

Choose the correct answer from the options given below :

(1) (B). D). (C). (&)
2) (D). (B). (A). (C)
(3) (B (A), (C). (D)

(4)  (C). A). (D). (B)
Options :
5362289989. 1
5362289990. 2
5362289991. 3
5362289992. 4

Question Number : 98 Question Id : 5362282564 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Afufam § 29 syEtam % S9an 32 S O 8 ([IV) % F9 1 gogatem &1

(A) 39 gme e oo der whim § 3gdw faen a2
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(C) 39 9w o2 ad=rml o sy —sqrentie sfian s 4 3uaiiem faen <o 2

(D)  sfemfaa z=m =)
A1 fau o foraa] 4 4 | 30 g

(1) (B). (D). (C). (A)
(2) (D). B). A (©)
(3)  (B). @A), (C). D)

(4)  (C). A). D). (B
Options :
5362289989. 1
5362289990. 2
5362289991. 3
5362289992. 4

Question Number : 99 Question Id : 5362282565 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following components of Guest Model of HRM in proper sequence?

(A) Behawvioural Outcomes
(B) HRM Practices

(C) HE outcomes

(D)  Performance outcomes

(E) HREM Strategies

Choose the correct answer from the options given below :

(L (B). (C). (E). D). (A)
(2) (B ®). (0. @A). D)
(3 (A ®). (). (E). D)
(4) (C). (A). (D). (E). (B)

Options :

5362289993. 1
5362289994. 2
5362289995. 3
5362289996. 4

Question Number : 99 Question Id : 5362282565 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



U= R U o 2 gl o Feforfiaa gesi # ad @9 4 gegafea i

(A) SR vl
(B) U 3T U W
(C)  uH 3 ufdEs
(D)  FEFTE fase

(E)  u= 31wy sriifa
14 oo o fasedi | 4 |d 3o gfw

(1) (B). (C), (E), (D), (A)
(2) (E). (B). (C), (A). (D)
(3) (A). (B), (C). (E). (D)

(4) (C). (A). (D), (E), (B)
Options :
5362289993. 1
5362289994. 2
5362289995. 3
5362289996. 4

Question Number : 100 Question Id : 5362282566 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below the ILO Conventions ratified by the Government of India? Arrange them 1n a
chronological order according to the yvear of ratification starting from the earliest to the
latest.

(A) Hours of work (Industry) Convention

(B) Underground work (Women) Convention

(C) Prevention of Major Industrial Aceidents Convention

(D)  Labour Inspection Convention

Choose the correct answer from the options given below :

(1) (A). (B). (C). (D)
(2) (A). (B). (D). (C)
(3) (C). (A). (B). (D)

(4) (A). (D). (C). (B)
Options :
5362289997. 1
5362289998. 2
5362289999. 3
53622810000. 4

Question Number : 100 Question Id : 5362282566 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



el uwA AR g A 3 ver o0 sfuemy fau e #) 39 sRagEe S ad o SgE 3R e | 9R F
FH o Heaaftd 1)

(A)  FrE e (FEm) s
B) o wE (afeerd) shaaeg
(C) g s ghen Faw sifvamy

D) &y fAfem sfgegg
A1 e o e § 4 9l 3or gfv

() (A (B (). (D)
2 (&). ®B). D). ()
3 (O @A), B). D)
4  @). D). (©). (B)

Options :
5362289997. 1
5362289998. 2
5362289999. 3
53622810000. 4

Question Number : 101 Question Id : 5362282567 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the following from options in the light of the lowest to the
highest level

(A) Living Wage
(B) Mimimum Wage

(C) Fair Wage

Choose the correct answer from the options given below :
(1) (C). (A), (B)
(2) (B). (C). (A)
(3) (0. (B).A)

(4 (B). (@A), (C)

Options :

53622810001. 1
53622810002. 2
53622810003. 3
53622810004. 4

Question Number : 101 Question Id : 5362282567 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  (C). (A, (B)
2 (B (0. A
(3) (O (B). (A)

(4) (B). (A). (C)

Options :

53622810001. 1
53622810002. 2
53622810003. 3
53622810004. 4

Question Number : 102 Question Id : 5362282568 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The schemes under the Provident Fund Act, 1952 enacted at different years. Arrange those
schemes according to their yvear of enactment from the earliest to the latest.

(A) Employees’ Pension Scheme

(B) Family Pension Scheme

(C) Employees’ Deposit-inked Insurance Scheme

(D) Employees’ Provident Fund Scheme

Choose the correct answer from the options given below :

(1) (A). (D). (C). (B)
(2) (A). (C). (B). (D)
(3) (D). (B). (C). (A)

(4) (B). (D). (C). (A)
Options :
53622810005. 1
53622810006. 2
53622810007. 3
53622810008. 4

Question Number : 102 Question Id : 5362282568 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(A)  FH=T v =hm
(B)  #eF Uy #=hY
(C) =l sy saaria s =him

D) == afas f4fa e
Afrat e wm Foepedi 1 3wt en g .

(1) @), D). ). (B)
2 (A).(©). B). D)
(3) (D). B). (C). (A)

(4) (B). (D). (C). (&)
Options :
53622810005. 1
53622810006. 2
53622810007. 3
53622810008. 4

Question Number : 103 Question Id : 5362282569 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Appreciative Inquiry Process was developed by David Cooperrider and Suresh Srivastava
giving four phases. Arrange the four phases from one to four :

(A) Dream

(B) Design

(C) Discovery

(D)  Delivery

Choose the correct answer from the options given below :

(L B. (©C). A). (D)
(2) (0. A, (B). (D)
(3) (B (A), (D). (C)
(4) (D). (A). (C). (B)

Options :

53622810009. 1
53622810010. 2
53622810011. 3
53622810012. 4

Question Number : 103 Question Id : 5362282569 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T aie wik 2fa % auge o i Aardad #1 0Ey g9 2 e 3 = v W 33 e 2
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(1)  (B). (C). (A). (D)
2 (O). @A), B). (D)
(3)  (B).@A). D). (©

4 (D). @A), (). (1B
Options :
53622810009. 1
53622810010. 2
53622810011. 3
53622810012. 4

Question Number : 104 Question Id : 5362282570 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below 1s a list of orgamsations. Arrange them 1n a chronological order starting from
the earliest to the latest on the basis of the years of their formation.

(A) Bombay Mill Hands Association.

(B) Amalgamated Society of Raillway Servants in India and Burma.

(C) Madras Labour Union.

(D) Indian Federation of Labour

Choose the correct answer from the options given below :

(1) (A). (B). (C), (D)
(2) (A). (C). (B). (D)
(3) (B). (C). (D). (A)

(4) (C). (B). (A). (D)

Options :

53622810013. 1
53622810014. 2
53622810015. 3
53622810016. 4

Question Number : 104 Question Id : 5362282570 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A B). (©). (D)
(2) (A (O), (B). (D)
(3) (B (©). D). (&)

4 (C). B) A). D)
Options :
53622810013. 1
53622810014. 2
53622810015. 3
53622810016. 4

Question Number : 105 Question Id : 5362282571 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The four steps of frustration cycle 1s given below. Arrange the correct sequence of frustration
cycle.

(A) Adaptive deterioration

(B) Isolation

(C) Defensive Behaviour

(D)  Distorted Perception

Choose the correct answer from the options given below :

(1) (A). (C), (D). (B)
2 Q). B). M. ©)
(3) (C). (A). (B). (D)
(4) (B). (A). (D). (C)

Options :

53622810017. 1
53622810018. 2
53622810019. 3
53622810020. 4

Question Number : 105 Question Id : 5362282571 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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B) UM
(C)  ufemafi sgaen

D) faa sraar

A1 fau o faereai O 3w 3o 9w
(1)  &ad (A), (C). (D). (B)

(2)  ae (A). (B), (D), (C)

(3)  F&d (C). (A). (B)., (D)

(4)  Fad (B). (&), (D). (C)

Options :

53622810017. 1
53622810018. 2
53622810019. 3
53622810020. 4

Question Number : 106 Question Id : 5362282572 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Choose the correct options regarding theories of Motivation :
(A) The concept of ERG theory is simmlar to Maslow's hierarchy of needs.
(B) Theory "X has positive assumptions while theory Y has negative assumptions.

(C) Two factor theory 1= derived by Mc gregor.

Choose the correct answer from the options given below :
(1) (A) only

(2) (A) and (B) only

(3) (B) and (C) only

(4) (A). (B) and (C) only

Options :

53622810021. 1
53622810022. 2
53622810023. 3
53622810024. 4

Question Number : 106 Question Id : 5362282572 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622810021. 1
53622810022. 2
53622810023. 3
53622810024. 4

Question Number : 107 Question Id : 5362282573 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T.V. Rao has described four indicators, which can be used to arrive at a comprehensive score
for HRD maturty. Identify the four indicators from the following :

(A) HRD System Maturty Score
(B) HED Competence Score

(C) The HRD Innovation Score
(D) Business Linkage Score

(E) The HED Culture

Choose the most appropriate answer from the options given below :

(1) (A, (B). (C). (D) only
(2)  (A), (B), (D). (E) only
(3) (A (B), (C). (E) only
(4 (B). (C). (D). (E) only

Options :

53622810025. 1
53622810026. 2
53622810027. 3
53622810028. 4

Question Number : 107 Question Id : 5362282573 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  #ae (A). (B). (C). (D)
(2)  %ad (A). (B). D). (B)
(3)  Fad (A). (B). (C), (E)

(4) %4 (B). (C). (D). (B)
Options :
53622810025. 1
53622810026. 2
53622810027. 3
53622810028. 4

Question Number : 108 Question Id : 5362282574 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Contingency Theories of leadership were developed by :

(A) Blake and Mouton
(B) Fiedler
(C) Hickson

(D) Vroom and Yetton

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A). (C) and (D) only
(3) (B). (C) and (D) only

(4) (A). (C) and (D) only

Options :

53622810029. 1
53622810030. 2
53622810031. 3
53622810032. 4

Question Number : 108 Question Id : 5362282574 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



forarah g1 ieeal 1 sk firgTd faerfam farmn e 27
(A) ol a1 Hiea

B) [Ezem

(C) Teawm

(D)  gu a9 I

1= fou e fasedi @ 4 |58 30 Fiu

(1)  #a (A), B) 3 (O)

(2) @A (A). (C) 311 (D)

(3)  wddl (B). (C) 31 (D)

(4)  Fae (A). (C) 31 (D)

Options :

53622810029. 1
53622810030. 2
53622810031. 3
53622810032. 4

Question Number : 109 Question Id : 5362282575 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Trait Theories of Leadership were developed by :

(A) Stogdill
(B) Me call and Lombardo
(C) Bennis and Thomas

(D) Kurt Lewin

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A). (B) and (C) only
(3) (A), (C) and (D) only

(4) (A), (B), (C) and (D) only

Options :

53622810033. 1
53622810034. 2
53622810035. 3
53622810036. 4

Question Number : 109 Question Id : 5362282575 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e g e 1 Foarsme fogra fasfoa frarmn 27

(A)  =infza
(B)  OFicl den SAT=mE]
(C) | au aiog

At Fao o faeredi d 9 wd 3 9w

(1) % (A) 31 (B)
(2)  Ed (A), (B) 3 (C)
(3)  #ad (A). (C) 31 (D)

(4)  F4e (A). (B), (C) 3 (D)
Options :
53622810033. 1
53622810034. 2
53622810035. 3
53622810036. 4

Question Number : 110 Question Id : 5362282576 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are some of the matters within the jurisdiction of the Industrial Tribunals. As
per the provisions of the Industrial Disputes Act. 1947, which option 1s correct?

(A) Hours of work and rest intervals
(B) Leave with wages and holidays
(C) The apphication and interpretation of standing orders

(D) Rules of Discipline

Choose the correct answer from the options given below :

(1) (A). (B). (C) only
(2)  (B). (C). (D) only
(3)  (A). (B), (D) only

(4 (A (©). (D)only

Options :

53622810037. 1
53622810038. 2
53622810039. 3
53622810040. 4

Question Number : 110 Question Id : 5362282576 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e s =i 6 sfuwria # Fo gea fou e #) sfenfes faar sfufee, 1947 % gEar &
HAEN 4 A fawen gea 2 7

(A) % g q HHH Fe

B) sl SR sEE % W gE

(C) vl SR = HJFEN 30 Fd=E

D) A

1 feu o faeredi | @ w4 39 gfu

(1)  %ad (4), B). (O)
(2) 4« (B). (C), (D)
(3)  #dd (A). (B). (D)

(4)  Fad (A). (0), (D)

Options :

53622810037. 1
53622810038. 2
53622810039. 3
53622810040. 4

Question Number : 111 Question Id : 5362282577 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are some of the provisions relating to Strikes and Lockouts in Public Utility
services under the I.D. Act, 1947. No person employed in a public utility service shall go on

strike :

(A)
(B)
(C)
(D)

Without giving to the employer notice of strike within six weeks before striking
Within Forty Five days of giving such notice
Before the expiry of the date of strike specified 1n any such notice as aforesaid

During the pendency of any conciliation proceeding before a conciliation officer and

fifteen days after the conclusion of such proceedings

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A) and (C) only

(A). (B) and (C) only
(A). (C) and (D) only
(A). (B). (C). (D) only

Options :

53622810041. 1
53622810042. 2
53622810043. 3
53622810044. 4

Question Number : 111 Question Id : 5362282577 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



siterfie fam Afufama, 1047 % A=[ SRR S 9 ggae a9 arermed) SuE gEaE = fqe e #)
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(A)  Esdrel 8 @ U yd R R Egdre F g e s
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(C)  w=dra i fafu i wfe 8 g TFiEe v e g@iE gem

D)  Herw sifaer] = wue fod gore 1 FarE  @fed w4 % 50H 37 33 9 F1 FEarE & qurE F
uzE f5a wg

<t ferw o, e 1 3wt 3o gfo

(1)  #ad (A) 31 (C)
2  Fad (A). (B) 3 (C)
(3)  #dd (A), (C) 31 (D)

(4)  FEe (A). (B). () 3F (D)

Options :

53622810041. 1
53622810042. 2
53622810043. 3
53622810044. 4

Question Number : 112 Question Id : 5362282578 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are some incentive schemes. Find out the schemes which are covered under the
category “Earnings very less proportionately than output™

(A) Hasley Plan

(B) Emerson’s Efficiency Plan

(C) Bath Scheme

(D) Rowan Plan

Choose the correct answer from the options given below :

(1) (A). (B), (C) only
(2) (B). (C). (D) only
(3) (A). (C). (D) only

4)  (A). (B). (D) only

Options :

53622810045. 1
53622810046. 2
53622810047. 3
53622810048. 4

Question Number : 112 Question Id : 5362282578 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A & dremred deEnd i # 3H deE ) Jd S TerEA A oy sgar § osmued & oad o
Tifee &7

(A) 29 g7

(B)  UHEA = gEA A

(C) =9 =M

D) T dra
At fau o i 8 & wd 37 gf

(1)  =de (A), (B). (O)
(2)  #ad (B). (C). (D)
(3)  #dd (A). (C). (D)

(4) 44 (A). (B), (D)

Options :

53622810045. 1
53622810046. 2
53622810047. 3
53622810048. 4

Question Number : 113 Question Id : 5362282579 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are some of t|he training methods for the executives. Choose the methods which
are covered under off-the-job methods.

(A) Special Projects

(B) Programmed Instructions

(C) Committee Assignment

(D) Conference Training

Choose the most appropriate answer from the options given below :

(1) (B) and (C) only
(2)  (A). (B) and (C) only
(3) {A) and (D) only

(4) (B) and (D) only

Options :

53622810049. 1
53622810050. 2
53622810051. 3
53622810052. 4

Question Number : 113 Question Id : 5362282579 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Ay  fafeme girasem
(B)  FEHHA HF
(C) =il dugem

D) = g

<3 Few ma Ferend 1wl 3 0

(1)  =ad (B) 31 (C)
(2) &4 (A). (B) 31 (C)
(3)  ad (A) 3K (D)

(4)  FHa« (B) 31 (D)

Options :

53622810049. 1
53622810050. 2
53622810051. 3
53622810052. 4

Question Number : 114 Question Id : 5362282580 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



As per the provisions of the Payment of Gratuity Act, 1972, the definition of family’ in
relation to an employee includes :

(A) In case of male employee. himself, his wife, his children whether marmed or
unmarried his dependent parents, and children of his predeceased son. if any

(B) In case of female employee. herself. her hushand. her children whether married or
unmarried, her dependant parents and dependant parents of her husband and the
widow and children of her predeceased son, if any

(C) In case of male employee, himself, his wife, his children. whether married or
unmarried. his dependants parents, and the dependant parents of his wife and
children of his predeceased son. if any

(D) In case of a male employee. himself, his wife, his children whether marred or
unmarried and his dependant parents.

Choose the correct answer from the options given below :

(1) (&), (B). (D) only
(2)  (A).(B), (C) only
(3) (A (C) (D) only
(4)  (B). (C). (D) only

Options :

53622810053. 1
53622810054. 2
53622810055. 3
53622810056. 4

Question Number : 114 Question Id : 5362282580 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(A)  1Ed R G0 H =, 9o, 35 = = d fEarfEd 5 @ sifaatza, sl wen -, o gEga
o o =, afe 18 7|

(B)  wieen sl =i 530 0 ¥4, ufd, 36 9w 9% o faartza 21 sfaentza, HeR ara-ia i 39
Tt o AR Hia— e aen 39 U o2 1 faua 3in 39 =, 4fs &8 21

(C) 9 =Tl =l 330 H ¥4, o1, 39 o= A2 d fadrfea g @ sifaantea, sufaa wra-foa, s o
o AT TN - T0et A 35k G o2 % = afe & A

D) 9 FH=E g O =, o, 39 9w e A faanfed 2 o sifaarfza qun 3 sisd gra-

A1 fau o fasredi 1 4 98 3+ 90

(1) %= (A). B). (D)

(2) 4 (A). (B). (O)

(3)  #4e (A). (C) (D)

4 =9 (B). (C). (D)

Options :

53622810053. 1
53622810054. 2
53622810055. 3
53622810056. 4

Question Number : 115 Question Id : 5362282581 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are some of the items. which are normally covered under "Wages'. From these
items, which of them are included under the definition “basic wages” as per the Employees’
Provident Fund and Miscellaneous Provisions Act, 19527

(A) Cash value of any food concession
(B) Anyv dearness allowance
(C) House rent allowance

(D) Leave travel concession

Choose the correct answer from the options given below :

(1) (A). (B). (D) only
2) (A (B). (O) only
(3)  (B).(C). (D) only
(4) (A). (C), (D) only

Options :

53622810057 1
53622810058. 2
53622810059. 3
53622810060. 4

Question Number : 115 Question Id : 5362282581 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(A)  HTER W E STH Fref R famd 1 e
(B) ﬁ e 15 qH]
(C)  wehE fekrrn aen

D) @ A

A1 e o fasedi 4 3 9 3 9o .

(1) el (A), (B). (D)
(2) %44 (A). (B), (C)
(3) %A (B). (C), (D)

(4 % (A). (©), (D)
Options :
53622810057. 1
53622810058. 2
53622810059. 3
53622810060. 4

Question Number : 116 Question Id : 5362282582 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



As per the provisions of the Employees’ Provident Fund and Miscellaneous Provisions Act,
1952, who among the following officers are to be appointed by the Central Government?

(A) Central Provident Fund Commissioner
(B) Chief Accounts Officer
(C) Insurance Commissioner

(D) Financial Adviser

Choose the correct answer from the options given below :

(1)  (A). (B). (D) only
2  (A). (B). (C) only
3)  (A). (C), (D) only

4)  (B). (C). (D) only

Options :

53622810061. 1
53622810062. 2
53622810063. 3
53622810064. 4

Question Number : 116 Question Id : 5362282582 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(A)  FEr ufae fafa wm

(B) A o S

(C)  =TH1 AT

(D)  fawia genesn
A1l faw o fasredi 1 3w 3w 9

(1)  #4ad (A). (B). (D)
(2) %4 (A). (B), (C)
(3) @A (A). (C). (D)

(4  FA4 (B). (O). (D)
Options :
53622810061. 1
53622810062. 2
53622810063. 3
53622810064. 4

Question Number : 117 Question Id : 5362282583 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



As per the provisions of the Payment of Gratuity Act. 1972, an employee on termination of
employment after continuous period of five years, shall be eligible to receive the Gratuity
from employer under which of the following conditions :

(A) On his superannuation

(B) On his retirement or resignation

(C) On his death or disablement due to accident

(D)  On dismissal from the employment for gross misconduct

Choose the correct answer from the options given below :

(1) (A). (B), (D) only
(2) (A). (C), (D) only
(3) (A), (B), (C) only

(4) (B). (C). (D) only

Options :

53622810065. 1
53622810066. 2
53622810067. 3
53622810068. 4

Question Number : 117 Question Id : 5362282583 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) %= (A). (B). (D)

(2)  #Ad (A). (C), (D)

(3)  F4ad (A). (B). (C)

(4)  F44 (B). (C), (D)

Options :

53622810065. 1
53622810066. 2
53622810067. 3
53622810068. 4

Question Number : 118 Question Id : 5362282584 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are some statements relating to payment of wages/incentives. Choose the
statements which are correct?

(A) Time rate system is more suitable where strict supervision is possible

(B) In Halsey's premium plan, time wages are guaranteed

(C) Under the Rowan Plan, incentive paid 1s fixed

(D) Under the Emerson's Efficiency Plan, the worker gets a normal wage upto 67 percent

of efficiency.

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only
(2) (A). (B) and (D) only
(3) (A). (C) and (D) only

(4) (A). (B) and (C) only

Options :

53622810069. 1
53622810070. 2
53622810071. 3
53622810072. 4

Question Number : 118 Question Id : 5362282584 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(D) 39 FRIFIAA] Wl 3 qad FIETR F1 FTHFIC F 67% a5 A= Fgil 9 1 8
1 fau o faereg] 9 4 |8 390 iAo

(1) 4 (B), (C) 31 (D)
(2) A (A). (B) 37 (D)
(3)  ad (A). (C) 31 (D)

(4)  FEd (A), (B) 31 (C)

Options :

53622810069. 1
53622810070. 2
53622810071. 3
53622810072. 4

Question Number : 119 Question Id : 5362282585 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements relating to the Sachar Committee are true?

(A) It was appointed 1n 1977.
(B) It submitted its report in 1979.

(C) One of the terms of reference for the Committee was ‘to suggest measures by which
workers’ participation in the share capital and management of companies can be

brought about.

(D) The Committee did not recommend any “mandatory participation in equity by the

workers”

Choose the correct answer from the options given below :

(1) (A), (B), (C) only
(2) (B). (C). (D) only
(3) (A). (C). (D) only

4) (A (B). (D) only
Options :
53622810073. 1
53622810074. 2
53622810075. 3
53622810076. 4

Question Number : 119 Question Id : 5362282585 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  FFa (A), B). (O)
(2) %@ (B). (C). (D)
(3)  wad (A), (C). (D)

(4)  #4d (A). (B). (D)

Options :

53622810073. 1
53622810074. 2
53622810075. 3
53622810076. 4

Question Number : 120 Question Id : 5362282586 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the followings are related to steps of Job Analysis?

(A) Gather Information
(B) Questionnaire
(C) Job description

(D) Job specification

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only
(2) (B). (C) and (D) only
(3) (C) and (D) only

(4) (A), (C) and (D) only

Options :

53622810077. 1
53622810078. 2
53622810079. 3
53622810080. 4

Question Number : 120 Question Id : 5362282586 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  Fda (A), (B) 371 ()
(2)  #44 (B), (C) 31 (D)
(3)  Had (C) 3N (D)

(4)  Fad (A), (C) 31 (D)

Options :

53622810077. 1
53622810078. 2
53622810079. 3
53622810080. 4

Question Number : 121 Question Id : 5362282587 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



As per the provisions of the Industrial Disputes Act. 1947, workman who 1= not a member of
the trade union. but 1s a party to dispute. shall be entitled to be represented by whom?

(A) By any other workman emploved in the industry

(B) By any member of the executive of the trade union

(C) By any member of the executive or office bearer of a Federation of Trade Unions

(D) By a Legal Practioner

Choose the correct answer from the options given below :

(1) (A). (B). (C) only
(2) (A). (B), (D) only
(3) (B). (C). (D) only

(4) (A). (C). (D) only
Options :
53622810081.
53622810082.
53622810083.
53622810084.

AW N =

Question Number : 121 Question Id : 5362282587 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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() #ad (A), (B). (C)
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(3)  #4 (B), (C), (D)

(4)  F4F4 (A). (C), (D)

Options :

53622810081. 1
53622810082. 2
53622810083. 3
53622810084. 4

Question Number : 122 Question Id : 5362282588 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements relating to the criteria for Recognition of Unions
prescribed in the code of Discipline are true?

(A) Where there 13 more than one union. a union claiming recognition should have been
functioning for atleast one year after registration: where there 1s only one union, this
condition would not apply.

(B) A union may claim to be recognised as a representative union for an industry in a
local area if 1t has a membership of atleast 25 percent of the workers of that industry
in that area.

(C) When a union has been recognised. there should be no change in its position for a
period of three yvears.

(D)  Where there are several unions In an industry or establishment, the one with the
largest membership be recognized.

Choose the correct answer from the options given below :

(1) (A), (B). (C) only
(2) (B). (C). (D) only
(3) (A), (C). (D) only
(4) (A). (B). (D) only
Options :
53622810085. 1
53622810086. 2

53622810087. 3
53622810088. 4

Question Number : 122 Question Id : 5362282588 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  #%a# (A), (B), (C)
(2)  %ad (B). (C)., (D)
(3)  #ad (A). (C). (D)

(4)  #F4e (A). (B). (D)
Options :
53622810085. 1
53622810086. 2
53622810087. 3
53622810088. 4

Question Number : 123 Question Id : 5362282589 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements relating to the trade union movement in India are true?

(A) The Indian National Trade Union Congress was formed by Hindustan Mazdoor Sevak
Sangh.

(B) There was a rift in the All India Trade Union Congress in 1970.

(C) The first President of the All India Trade Union Congress was Chaman Lal.

(D) The Indian Trade Union Federation was formed 1n 1930.

Choose the correct answer from the options given below :

(1) (A), (B), (C) only
(2)  (B).(C), (D) only
(3) (A)., (B). (D) only

(4) (A). (C). (D) only

Options :

53622810089. 1
53622810090. 2
53622810091. 3
53622810092. 4

Question Number : 123 Question Id : 5362282589 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) %A (A), B). (C)

(2) %A (B), (C). (D)

(3) %A (A). (B). (D)

(4  Fad (A). (C). (D)

Options :

53622810089. 1
53622810090. 2
53622810091. 3
53622810092. 4

Question Number : 124 Question Id : 5362282590 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the factors mentioned below are the hidden cost of accident?

(A) Legal 1ssues

(B) Loss of morale

(C) Spoiled work

(D)  Training cost of replaced worker

(E) Lost time by fellow emplovers

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A), (C), and (E) only
(3) (C), (D) and (E) only

(4) (A). (B) and (D) only

Options :

53622810093. 1
53622810094. 2
53622810095. 3
53622810096. 4

Question Number : 124 Question Id : 5362282590 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fAeaferfiaa 9 6 #F & s gden 1 gsaa arm 27

(A)  fafes am=

(B)  HTael d i

(C)  Fd 4l

(D) uieeaTiyd e 6 giEem @
(E) @il & qu9a %1 999H

1 fou e faeredi 0 4 58 39w v

(1)  ad (A), (B) 31 (C)

(2) =4 (A), (C) 31 (E)

(3)  =ad (C). (D) 31 (E)

(4) e (A). (B) 31 (D)

Options :

53622810093. 1
53622810094. 2
53622810095. 3
53622810096. 4

Question Number : 125 Question Id : 5362282591 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



An employee after completion of one vear of service 1z required to give nomination under the

provisions of the Payment of Gratuity Act. 1972. From the statements given below. which

are the correct options for nomination by the employee.

(A)
(B)

(C)

(D)

If having fanuly. in favour of one or more members of his family.

If the employee at the time of nomination, has no family, infavour of any person or

persons of his choice.

If having family, giving nomination in favour of a person. who 18 not a member of his
family.

If the nominee predeceases the emplovee. giving fresh nomination in favour of a

member of the family

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A). (B). (C) only
(A). (B). (D) only
(B). (C). (D) only
(A). (C), (D) only

Options :

53622810097. 1
53622810098. 2
53622810099. 3
53622810100. 4

Question Number : 125 Question Id : 5362282591 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



forefl =] o6 vk = Al T g 2 o UvETd 39 399M derE sHafEm, 1972 % 39Sl & s Armfad
35 w1 21 2| = f2e e s o 4 sdenfrdl g g9 F g Eeea a2

(&)  afe uftam 21 A giEn & v s E Hive gee & e

B)  Ife M FEvA & 999 FHEE F1 18 =R T8 & 9 S0 96E o i sai see SaiEgl o uE o
(©) e ufam & ot 1 =afeh & veq 0 s ok witam =1 weea 94 2)

(D) e Ariaefl 1 9oy Fd=wl @ dgel #idl 2 1, fEn & e & v 4 99 T HEIH &)

1 fau o faeredi O & | 39 v ;

(1) % (A), (B). (C)
(2)  #ad (A). (B). (D)
(3)  #ad (B). (C). (D)
(4) 49 (A). (C). (D)

Options :

53622810097. 1
53622810098. 2
53622810099. 3
53622810100. 4

Question Number : 126 Question Id : 5362282592 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the following services are offered by National Safety Council, a voluntary non-
profit making body governed by a Board of Directors representing the Government.
Employers and Trade Union representatives?

(A)  Publication Service

(B)  Ambulance Service

(C) Mobile Clinic Service

(D) Safety Training Service

Choose the correct answer from the options given below :

(1) (A) and (D) only
(2) (A) and (B) only
(3) (B) and (C) only

(4) (C) and (D) only

Options :

53622810101. 1
53622810102. 2
53622810103. 3
53622810104. 4

Question Number : 126 Question Id : 5362282592 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T we aitge, U wEfEaed A aHTH 52 S g, FHErl 37 28 gHEA aidtag & gfafatre e
e weet g wenfia 2 2, g Fetefaa 0 9w d@ daEr ger ) s 27

(A)  UEHTIH AT
(B)  UEe
(Cy  wraTEs faefes Jan

(D)  HT&T gigTEm e

A1 oo e faereai ° 3 &l 3o g

(1) el (A) i D)
(2)  Hae (A) 31 (B)
(3) A (B) 3 (C)

(4)  %4d (C) 3 (D)

Options :

53622810101. 1
53622810102. 2
53622810103. 3
53622810104. 4

Question Number : 127 Question Id : 5362282593 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The main function of the shop council is to increase production and overall efficiency of the
shop or department. Which of the following are the functions of the shop counecil?

(A) Improvement of physical conditions of working.

(B) To study abzenteeism in the shops.

(C) The preparation of achedule of working hours and hohidays.

(D)  Awarding rewards for valuable and creative suggestions.

Choosze the most appropriate answer from the options given below :

(1) (A). (B) and (C) only
(2) (A) and (B) only
(3) (A) and (C) only
(4) (A). (C) and (D) only

Options :

53622810105. 1
53622810106. 2
53622810107. 3
53622810108. 4

Question Number : 127 Question Id : 5362282593 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



oI FEHEE F g FE gFA Hgdl fGam F s FEgved HJRIe0E deH 21 9 FEtEE
freferfia | & o o 27

(&) = ) ifas g § gan
B) i d st gl s s
(C) =1 % 92l i wizl 1 HF8M T4

(D)  Yoda S EHEF g2al & foft, kR &1
1 fau e faeredi | | 58 39 v

(1)  =aa (A), (B) 31 (C)

(2 FAE (A) 3 (B)

(3)  %4Fd (A) HF (C)

(4)  =Had (A). (C) #l (D)

Options :

53622810105. 1
53622810106. 2
53622810107. 3
53622810108. 4

Question Number : 128 Question Id : 5362282594 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements relating to the trade union movement in India are true?

(A) The Ahmedabad Textile Labour Association was established 1n 1920.
(B) The ATITUC was established 1n 1920.
(C) Lala Lajpat Rai was the first General Secretary of the AITUC.

(D)  There was a sphit in the AITUC n 1920.

Choose the correct answer from the options given below :

(1) (A). (B), (C) only
(2) (B). (C), (D) only
(3) (A). (C), (D) only

(4) (A). (B). (D) only
Options :
53622810109. 1
53622810110. 2
53622810111. 3
53622810112. 4

Question Number : 128 Question Id : 5362282594 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



qRe d 22 Y5 AGTeA & 9n § Fetatad 4 8 919 3 Fu9 96 27
(&)  HEHEETE JFH2IE ol UHITHUIE 1920 § £1i0a 2 411
B) el £l 1920 H 7 i

(C) A&l STTsi9d TR UZsh o Jeel Herf=a )

D) ek H 1920 U faqrsE gan o)

A1t fau o fasmedi | 3 w8 3R g0

(1)  #4E (A). B). (C)
(2)  Fa (B). (C). (D)
(3) 4 (A). (O), (D)

(4) @& (A). (B). (D)

Options :

53622810109. 1
53622810110. 2
53622810111. 3
53622810112. 4

Question Number : 129 Question Id : 5362282595 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Turner and Hodge has proposed four areas of concern in the study of professionalism. They
are

(A) Degree of Substantive Theory and Technique

(B) Degree of Monopoly

(C) Degree of External Recognition

(D) Degree of Orgamsation

(E) Degree of Philosophy

Choose the most appropriate answer from the options given below :

(1) (A). (B), (C). (D) only
(2) (A). (B). (D). (E) only
(3) (A). (B). (C). (E) only

(4)  (B). (C). (D). (E) only

Options :

53622810113. 1
53622810114. 2
53622810115. 3
53622810116. 4

Question Number : 129 Question Id : 5362282595 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



247 31 219 3 JSIaEry Fe499 O <R SOEE =] 1 Ead e 9@

(A)  "uriwe faga s aweE 1 HJm
B)  usfEEE £ Hm

(Cy Tl Hi=g = =

D) G Hm

(E)  5uiH & #m

A fao o fased 4 3w 3w g

(1)  #a# (A). (B). (C). (D)
(2)  #4ad (A), (B). (D). (E)
(3)  @Ed (A (B). (C). (E)

(4) & (B). (C), (D). (E)

Options :

53622810113. 1
53622810114. 2
53622810115.3
53622810116. 4

Question Number : 130 Question Id : 5362282596 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the following are the essential elements of Social Insurance?

(A) Contributory finance
(B)  Benefits prescribed in law
(C) Person’s other income and resources are taken into account

(D)  Benefits are paid without contribution as legal right in prescribed categories of need

Choose the correct answer from the options given below :

(1) (A) and (D) only
(2) (A) and (C) only
(3) (B) and (D) only

(4) (A) and (B) only
Options :
53622810117. 1
53622810118.2
53622810119. 3
53622810120. 4

Question Number : 130 Question Id : 5362282596 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ferferfiaa d o6 & amatfse =g & sifam o 27

(A)  FHvrerE e
®) fafagm fafes wafeamd
(C)  =afer ol 31=1 =1/ 31 J1eE] = 9feed T 9 2)

(D)  wEvgFdl | fafed afbr O wgiams 1 gewd fafas sfaer & =9 4 ) 9 2, fa fe

9 *|

1 e fepe © 3 ol wee i

(1)  #de (4) 1 (D)
(2) T (A) #R (C)
(3) el (B) WK (D)

(4)  Had (A) HF (B)
Options :
53622810117. 1
53622810118.2
53622810119. 3
53622810120. 4

Question Number : 131 Question Id : 5362282597 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I and List IT

List I List II
(A) Reformist Unions () Industral Workers of the World
(IWW)
(B) Revolutionary Unions (ID' Unions affilhated to the American

Federation of Labor and Congress for
Industrial Organization (AFL-CIO)

(C) Craft Unions (III) Rashtriva Mill Mazdoor Sangh,
Bombay
(D) Industrial Unions (IV) The Ahmedabad Weavers' Union

Choose the correct answer from the options given below :

(1) (A)-(ID. (B)-(I). (C)-(IV), (D)-(IIT)
(2)  (A)-aID. (B)-AI). (C)-(D. (D)-AV)
(3)  (A)-@. B)-II), (C)-ID, (D)-AV)
(4) (A)-(IV). (B)-(I1I), (C)-(I), (D)-(II)

Options :

53622810121. 1
53622810122. 2
53622810123. 3
53622810124. 4

Question Number : 131 Question Id : 5362282597 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



H=1-T 37 g=1-11 =1 Fuferd i)

(A)
(B)

(C)
(D)

w1
HHHE, 42
sifrerr gz

fTeg Hu
SIS |y

EIERCURINECT R R e e i B

(1)
(2)
(3)
(4)

Options :

(A)-ID). (B)-(D). (C)-(IV). (D)-(ILL)
(A)-IID). (B)-(I). (C)-(D). (D)-(IV)
(A)-@). (B)-I1D). (C)-(1D. (D)-IV)
(A)-@V), (B)-(II). (C)-(@). (D)-(IL)

53622810121. 1
53622810122. 2
53622810123.3
53622810124. 4

qefi-11

(I) Zefgd 94 A § ge8 (318 250 g5y
(I[) =AUy Weiye % ol We FHIE B
(IIT) Tréfa et wargt &, &)

(IV) sfeHer=ie 441 94

Question Number : 132 Question Id : 5362282598 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I and List IT

Last I Last IT
(A) Kaizen (! Focuses on meeting the customer
requirement on time
(B) Value Stream Mapping (II) Focuses on continuous lmprovements
In manufacturing, engineering or
management
(C) 20-Point Programme (III) Focuses on intense and regular

scrutiny of every step in the work
processes In an organization

(D) Total Quality Management (IV) Focuses on specific =socio-economic
measures

Choose the correct answer from the options given below :

(1) (A)-(I). (B)-(ID). (C)-(III). (D)-(IV)
(2) (A)-(ID). (B)-(D). (C)-(IV), (D)-(I1T)
(3)  (A)-dID), (B)-D). (C)-1D). (D)-AV)
(4)  (A)-IV). (B)-(IID). (C)-(D). (D)-(IL)

Options :

53622810125. 1
53622810126. 2
53622810127. 3
53622810128. 4

Question Number : 132 Question Id : 5362282598 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



H1-1 3R g=fi-11 #1 gafera fifan)

i1 HALIL

(A) FeH (I) =94 999 W UTEF H S T FA T oad
T e 2

(B) Ty = o (ID zad fafwio, $sfifadl san weve = &9 o
Hed YRl o sfe fean san 2

(C) fm ufi wrizm (D) =od Tt wiraa 4 & ) i & geis =
i1 1784 3i% Fata st o 56 T s 2)

(D)  HRel UrEHl g9 (IV) =Hd fafsme amfses s 30 w o G
EIGIES

el fow o fasred] 4 | S 3w g

(1) (A)-(D). (B)-(ID). (C)-(III). (D)-(IV)
(2)  (A)-AD. (B)-(D). (C)-V). (D)-(ID
(3)  A-dID. B)-@. (CO)-(ID. (D)-(IV)
4 (A-IV). (B)-ID). (O-D. (D)-(ID
Options :

53622810125. 1

53622810126. 2

53622810127. 3
53622810128. 4

Question Number : 133 Question Id : 5362282599 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Tist T and List IT

ListI List IT
(A) Subsistence Theory (D J.B. Clark
(B) Wage Fund Theory (ITY Walker
(C) Residual Claimant Theory (IITy J.5. Mol
(D) Marginal Productivity Theory (IV) Ricardo

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)
2  (A)-D). (B)-(ID. (C)-(IID), (D)-AV)
(3)  (A)-OV). (B)-D). (C)-(I). (D)-(I1T)
(4) (A)-(ID). (B)-(IV). (C)-(I). (D)-(I1T)

Options :

53622810129. 1
53622810130. 2
53622810131. 3
53622810132. 4

Question Number : 133 Question Id : 5362282599 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=fi-1 3f =i 11 =1 gafera i)

I HHI-1I
&) fafe fagra @ S wendh
(B) =m M fagm (In) &
(C) rafure gramdl fasrma (IIT) .04, foa
(D) HETE 3eEEal e @) frrrel
A1 fow o foasredi § 4 w3 9w

(1) (A)-(IV). (B)-(III), (C)-(II). (D)-(I)
(2) (A)-(I). (B)-(ID). (C)-(IID). (D)-(IV)
(3) (A)-AV). (B)-(II). (C)-(I). (D)-(ILI)

(4) (A)-(II). (B)-(IV). (C)-(D). (D)-(IIT)
Options :
53622810129. 1
53622810130. 2
53622810131. 3
53622810132. 4

Question Number : 134 Question Id : 5362282600 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Iast I and Last IT

List I List IT
Traiming Deseription Training Technique
(A) Providing a common focus of (I) Shadowing
discussion
(B) Insightinto a given interaction (II) Multiple role playing

(C) Brings out ideas that are not often (III) Monodrama
expressed

(D) Working under a senior to watch and (IV) Doubling
learn

Choose the correct answer from the options given below :

(1) (A)-(II). (B)-(III). (C)-(IV). (D)-(I)
(2) (A)-(III). (B)-(II). (C)-(IV). (D)-(I)
(3  (A)-AV). (B)-(ILD). (C)-(I), (D)-(IT)
4)  (A)-AD. (B)-(D. (C)-(IV), (D)-(IIT)
Options :

53622810133. 1

53622810134. 2

53622810135. 3
53622810136. 4

Question Number : 134 Question Id : 5362282600 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



i1 i g1 #i ifera fifir

-1 1T
gfsegor faam i rE dee

(A) == 9T HHEIE S () @A
(B) fafza siafawn $i siaefe (In)  wgyfue FHate
(C) 34 Ta=mil 1 wehe &1l a7Fe sifasgeh 46 fofn. (1D vsherres

S 2
(D) wHEem 3w s F e e afesd d @V) driEm

A Fd

Al feu o fasrei d § |8 3w g

(L (A)-ID. (B)-(II). (C)-(IV). (D)-(D
(2) (A)-(I1T). (B)-(II). (C)-(IV). (D)-(I)
(3)  (A)-IV). (B)-(II). (O)-(I). (D)-(ID)
(4  (A-AD. (B)-(D. (C)-(IV). (D)-(IID)

Options :

53622810133. 1

53622810134. 2

53622810135.3
53622810136. 4

Question Number : 135 Question Id : 5362282601 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Match List I and Iast IT

()
(B)

(C)
(D)

Last 1

Discipline
Regulation of Employer-Employees
Relations

Wage Revision

Mode and Time of Payment of Wages

Last IT
The Payment of Wages Act, 1936

The Industral Employment (Standing
Orders) Act, 1946

The Industrial Disputes Act. 1947
The Minimum Wages Act, 1948

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options :

(A)-(I0). (B)-(III). (C)-(IV). (D)-(D)
(A)-(III), (B)-IV). (C)-(I), (D)-(IT)
(A)-(IID). (B)-(IV). (O)-(1D). (D-(D)
(A4)-(I1D). (B)-(ID), (C)-(IV), (D)-(I)

53622810137. 1
53622810138. 2
53622810139. 3
53622810140. 4

Question Number : 135 Question Id : 5362282601 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HAI-T 371 F=Ai-11 =01 gufera s

HH1-I 111
(A) I @ o Ham sifufad, 1986
(B)  TreR s dae & fafaae (ID) e e (sard sren) sfafay,
1946
(C) usigh e (IIT) sirnfire faam sifafaem, 1047
(D) wsrgfl gar i fafu i sa ww (IV) =gam usrghl sfafram, 1948
A fau o famredi O 4w 3w i

() (A)-ID. (B)-(I1D). (C)-V). (D)-(D)
(2)  (&)-dID). (B)-AV). (O)-@). (D)-(IL)
(3)  (A-IID. B)-AV). (O)-1D). (D)-D
(4 (A)-IID. (B)-0D). (C)-(IV). (D)-()

Options :

53622810137. 1
53622810138. 2
53622810139. 3
53622810140. 4

Question Number : 136 Question Id : 5362282602 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Matech List I and TLast IT

TLast T List IT

(4) Frictional Unemployment () Unemployment that varies predictably
with season.

(B) Seasonal Unemployment (II)' When people are in transition from
one job to another or when they first
enter the labour market.

(C) Cychical Unemployment (IIT) In periods of economic change when
new Jobs being created Thave
requirements different from the old
jobs being lost.

(D) Structural Unemplovment (IV) Associated with a reduction in real
outputs during periods of recession.

Choose the correct answer from the options given below :

(1) (A)-(ID). (B)-(I1I). (C)-(I). (D)-(IV)
(2)  (A)-aD). (B)-(D). (C)-(IV), (D)-(I1I)
(3)  (A)-AD. (B)-(IID). (C)-(IV). (D)-(D)
(4) (A)-(IV). (B)-(D). (C)-(I1L). (D)-(II)
Options :

53622810141. 1

53622810142. 2

53622810143. 3
53622810144. 4

Question Number : 136 Question Id : 5362282602 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 371 g -11 =1 gufera Fifsm)

11 HAI-10

(A) TFFeEe sErsmd (@ srerTE Tored diem & |y giEdy st E |

(B)  dd sErET () Fal eff7l Uek flad] @12 = gaf Sl 8 97 &
AT S o Ugefl N 99 T § 599 w8 |

(C) =hi =S (IIT) sATiefer wfvad et 0 o =2 Ao g =
el A1 g sem el i 3 fum
2l 2

(D) T ST (IV) Hel o 9ua Jrdfas 3ai7e4 3 a1 8 dafaq)

Hr fau o fereai O 1wl 3w g

(1) (A)-(I1). (B)-(IIT). (C)-(D). (D)-(IV)
(2)  (A-ID. (B)-(D. (CO)-IV). (D)-(IID
(3) (A1, (B)-(III). (C)-(IV). (D)-(I)
(4)  (A)-AV). (B)-(D). (O)-dIL). (D)-(1D)

Options :

53622810141. 1

53622810142. 2

53622810143. 3
53622810144. 4

Question Number : 137 Question Id : 5362282603 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I and List IT

ListI List IT
Commission/Committee Chairman
(A) Royal commission on Labour ()  Ravindra Verma

(B) First National Commission on Labour (II}) D.V. Rege

(C) Labour Investigation Committee (III) J.H. Whatley
(D) Second National Commission on (IV) P.B. Gajendra Gadkar
Labour

Choose the correct answer from the options given below :

(1) (A)-(II). (B)-(I). (C)-(IV), (D)-(III)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(3) (A)-(IID). (B)-(IV). (C)-(ID). (D)-(T)

(4) (A)-(D. (B)-II). (C)-(IID. (D)-(IV)
Options :
53622810145. 1
53622810146. 2
53622810147. 3
53622810148. 4

Question Number : 137 Question Id : 5362282603 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



H1 -1 3 G- 11 =1 gufera it

-1 HH1-11
s fafufa Sqene
(A) TR FY HFA (O T Tl
(B) W Ty o ST (I EiAlTm
(C) 7™ =1 Hfnfd @) 3. faaes
(D) T g oy s (IV) i1, T T

AT fau 1o faskedi 4 | 8 39 g

(1) (A)-AD. (B)-(D. (C)-(IV). (D)-(IL)
(2)  (A)-IV). (B)-IID. (O)-(D). (D)-II)
(3)  (A-IID. (B)-IV). (O)-aD). (D)-(D

4  (A-D. (B)(1D. (CO)-(III). (D)-(IV)
Options :
53622810145. 1
53622810146. 2
53622810147. 3
53622810148. 4

Question Number : 138 Question Id : 5362282604 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match TList I and List IT

List I List IT
(A) Group influences in the work place (I) Max Weber
(B) Administrative theory — Rules of (II) Chester Barnard
Management

(C) Father of Modern Management (III) Mary Parker Follet
Theory

(D) Systems Theory (IV) Henn Fayol

Choose the correct answer from the options given below :

(1 (A)-(IID). (B)-(IV). (C)-(I). (D)-(IT)
(2) (A)-(IV). (B)-(D), (C)-(II). (D)-(I1I)
(3) (A)-IID). (B)-(D). (C)-(IV), (D)-(IL)
(4) (A)-(IL). (B)-(III). (C)-(IV). (D)-(T)

Options :

53622810149. 1
53622810150. 2
53622810151. 3
53622810152. 4

Question Number : 138 Question Id : 5362282604 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



qA-1 iR g=fi- 11 =1 gafera it

-1 FHII
(A)  FEEE 9 HTE 99E (@D  UFm A
B) werEfa fgra-eaa o g (D) <t 3iTe
(C) Hf% yay fagia & s (IIT) 31 It Fiere
(D) wonedi g (IV) =1 FaTel

A foo o faeregi d 3 o@ 39 9w

(1) (A)-(I1D). (B)-(IV). (C)-(I). (D)-(ID)
(2) (A)-(@V), (B)-(I), (C)-(ID). (D)-(11I)
(3) (A)-(III). (B)-(I). (C)-(IV). (D)-(II)

(4) (A)-(I1). (B)-(III), (C)-(IV). (D)-(I)
Options :
53622810149. 1
53622810150. 2
53622810151. 3
53622810152. 4

Question Number : 139 Question Id : 5362282605 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I and List IT

Tast 1 List IT

(A) The other fellow 1s to be conquered (I) Paternalism
and put at my service

(B) The other fellow should be helped up (II) Participation
when down. without too much eoncern
for what got him down

(C) The other fellow has something to (III) Welfare
contribute to my efforts and can help
me

(D) The other person should be cared for, (IV) Slavery
and I will decide to what extent

Choose the correct answer from the options given below :

(L (A)-AD. (B)-(D). (C)-(IID). (D)-IV)
(2) (A)-IV). (B)-(IID). (C)-(IL). (D)(I)
(3)  (A)-IID). (B)-(IV), (C)-(I). (D)-(IT)
(4) (A)-(I). (B)-(ID, (C)-(IV). (D)-(I1I)

Options :

53622810153. 1

53622810154. 2

53622810155. 3
53622810156. 4

Question Number : 139 Question Id : 5362282605 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 3R F=- 11 %1 guferd i)

-1 =111
(A) zE =afe wl owrd w1 3@ Ul dE § (D HeEmn
(B) Tren &1 Fefd | fomn g avd ) foan fre for @D wfaafiren
safer i fren 2o, wehl wee wl =nfen

(C) 7&w =ik U vl § e &4 0 ggg %1 (1) Fedm
Hefell 2

(D) 7t =i il Fa—ga il o e s (IV) 2R
fvia 4 sam & e o 2 a2

A fau o forered H & wél 3w 9

(L (A-ID. (B)-(D. (O-(IID). (D)-IV)
(2)  (A)-AV). (B)-(IID). (C)-ID). (D)-(I)
(3)  (A-IID, (B)-IV). (CO)-(D), (D)-(ID
(4)  (A-@. B)-ID. (C)-(IV), (D)-ID

Options :

53622810153. 1
53622810154. 2
53622810155. 3
53622810156. 4

Question Number : 140 Question Id : 5362282606 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T and Tast IT

(A)
(B)

(C)
(D)

List I
LEGISLATIONS
The Trade Unions Act, 1926
The Code of Discipline

The Industral Disputes Act, 1947

The Industrial Employment (Standing
Orders) Act.

List II
PROVISIONS
(i Retrenched and Protected Workmen

(IT) Collection of forms for Political
Participation

(III) Recognition of Trade Unions

(IV) Disciplinary action for misconduct

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(D)., (B)«ID), (C)-(I1D). (D)-(IV)
(A)-(ID). (B)-(III). (C)-(D). (D)-(IV)
(A)-(IV). (B)-(I). (C)-(II), (D)-(I1I)
(A)-(ID). (B)-IV). (C)-(@), (D)-IT)

Options :

53622810157. 1
53622810158. 2
53622810159. 3
53622810160. 4

Question Number : 140 Question Id : 5362282606 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



{1 i1 F=hi- 11 =1 gHfora Sifsm|

HH1-I 111

faum T
(A) =g s (D) s s arem wHan
(B) IR Hiwdl (I)  Trs-ifersk wrfier = foro o |Jue
(C) sirrifir faam sifafaam, 1047 (IID) 2 YHT1 =] 1T

(D)  siveifire (e (sar sem) sifatem (IV) FaT=T o foTu siema-Ters FHar
4 f2u o fasedi 4 4 w1 3w gH

(1) (A)-(D). (B)-(1D). (C)-(IID). (D)-(IV)
(2)  (A-adD. (B)-(II). (C)-(I). (D)-(IV)
(3) (A)-(IV). (B)-(D). (C)-D), (D)-(IIT)
(4) (A)-(IID). (B)-(IV). (C)-(). (D)-(1I)

Options :

53622810157. 1

53622810158. 2

53622810159. 3
53622810160. 4

Sub-Section Number : 2
Sub-Section Id : 536228101
Question Shuffling Allowed : Yes

Question Id : 5362282607 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the passage carefully and answer Q.INo. 91 to 95 that follow :

An organisation which is keen to retain good talent must have systems to inform employvees
that the organization cares for them. belongs to them and 1t 1s they who can make 1t prosper
and grow. In other words, people are empowered to consider the organisation as their own.
This. to a large extent can be achieved if the emplover 1s sensitive and caring and makes
efforts to develop proper systems. This has to be demonstrated through efforts and actions.
not merely words. It 1s important to have systems which seek emplovees mvolvement in
deciding policy matters. technological upgradation. improving general administration, and
productivity ete. instead of thrusting decisions on them. When emplovees are consulted. two
benefits clearly acerue. Thr first being emplovees who are well entrenched in operation will
normally know the intricacies and will be able to offer wvaluable suggestions for its
improvement. Secondly, once they have participated in the decision malking process,
acceptance and i1mplementation become much easier since the staff members are In a
position to explain to others who may not have participated. Most importantly, seeking
participation makes people feel wanted and cater to their esteem needs. They feel respected
and recognised. They are empowered to think that they are responsible partners in the

process of development and contributing to growth.

Sub questions

Question Number : 141 Question Id : 5362282608 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How can an organisation retain good talent?

(1) By caring of them
(2) By belonging to them
(3) By making them prosper

(4) By making them to feel that the organisation 1s their own
Options :
53622810161. 1
53622810162. 2
53622810163.3
53622810164. 4

Question Number : 142 Question Id : 5362282609 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



How can the objective of retaining good talent be achieved?

(1) If proper systems are suggested
(2) If the emplover 1s caring and sensitive
(3) If the demands of the employees are met
(4) By imposing decisions on them

Options :

53622810165. 1
53622810166. 2
53622810167. 3
53622810168. 4

Question Number : 143 Question Id : 5362282610 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statement 1s not correct?

(1) Proper systems can be demonstrated through actions
(2) Svatems can be made to work through efforts
(3) Svstems can become effective through powerful words and dramatic gestures
(4) Systems are needed for employees’ involvement
Options :

53622810169. 1
53622810170. 2
53622810171. 3
53622810172. 4

Question Number : 144 Question Id : 5362282611 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The benefits of consultation are :
(1) Operation and implementation become easier
(2) Production cost goes down

(3) Employees feel proud and superior
(4) Employees do not insist on their rights
Options :

53622810173. 1
53622810174. 2
53622810175. 3
53622810176. 4

Question Number : 145 Question Id : 5362282612 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Participation makes the employees feel that :

(1) thenr demands are looked into favourably
(Z2) they are respected and recognised

(3) they have become indispensable

(4) they are saviours of the organisation

Options :

53622810177. 1
53622810178. 2
53622810179. 3
53622810180. 4

Question Id : 5362282607 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

I IS ] SAHYEE UG W9 H. 91 F 95 e o I 4

H1 A S ] Uil 1 S W S TE a2, 39 TTE UH1 dE Hawd 21 =iEe S s
1 A2 Al Weh o a3 o s 2, 391 @ 3 gl e Rl ardhl #d 2 ST 3H e S g
FE WIEE] 1, GART 1 58 T HTehEA) B ST 2 R S A A 6 oF | U 2F 95 22 aF 5
2 afg TR Hagasiiel 3R 3ok spuf=ds 2 a9 agi=d 73 ek i & o 92ewd 2| 98 9 Fad 3e61 |
afeeh WAl S i @ off ittt S =fen) A @ gyl @ S e Wi g 6 s
Hifq Fael A % Ao, dEiE siEEE, aers gemE s seeEd § g9, serts § 3 Sad F
SreTfed | Afs el § T -wfEn G S 2 q1 56 & geaa o €A 2 | TEer o 92 2 Tk weer |
ety =l wrr=e; wufl sifeensi | uiifd @d 8 ofr 3 gan & for gegar e § 9| g6, o R
s & fvia &4 31wl 1 afaanfirn e 2 91 =il sin rarees aga smam 8 s 2 #&iE 20 & ge
i 81 svHare g S w1 e T ad ) fafa 8 20 f w9 weal @ gz 2 R, afafie
qieeTlad - H AT 1 7 T & T d aifed 8 i 388 394 sren deE o g S 26 2|9 Jenia
st i wesd F3d 2| 390 2 9EA S 2 o A s o wiswe | aeen aufien @ o wafe 4 gmee
FAE B

Sub questions

Question Number : 141 Question Id : 5362282608 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



15 HI3A Tohm TR 7] ITeeq1 =l 3794 H14 S0 T3 Hefel] 27

(1) 3961 2@ —aTel 5 & g
(2) 399 99 =974 F g
(3) I 9Ygi=d M F F

(4) 37 T2 AedE foam & g 5 wnea 3 2

Options :

53622810161. 1
53622810162. 2
53622810163. 3
53622810164. 4

Question Number : 142 Question Id : 5362282609 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SA=el Ifd e o S0 Ty 940 T o 32vd F Ofd T gen s gend 27

(1)  afs wyfad @23 = gza fan 9@

(2)  afe e qaeei i i @
(3)  ufe =i 6w gl 6 e

(4) 3T A

Options :

53622810165. 1
53622810166. 2
53622810167. 3
53622810168. 4

Question Number : 143 Question Id : 5362282610 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ferfarfea 4 | 3w Fam ol a8 27

(1) =yl &2 S & a8 gfefad e s s 21

(2) @l YEEAEE FHRE S S HE 2

(3) il W vsal 3 erifash Spee o arersy A gl SR S w2
(4) == = gema & foe A sraves 2 )

Options :
53622810169. 1



53622810170. 2
53622810171. 3
53622810172. 4

Question Number : 144 Question Id : 5362282611 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T -T2 7

(1) o= i1 TR s 21 2
(2)  IaT7EH ANTd %H 2 S 2
(3) = ATRETEE R g aeE #d 2
(4)  wH=T S sl o s A 2
Options :
53622810173. 1
53622810174. 2

53622810175. 3
53622810176. 4

Question Number : 145 Question Id : 5362282612 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
i & spd=fE O a1 sEEE g gl
(1) 31 il Ry faem fam s )
(2) A Heqiad s afaa 9 #:75d 2
(3) o smafrerd 54 9 21
(4) 39 % & a6 7
Options :
53622810177. 1
53622810178. 2

53622810179. 3
53622810180. 4

Sub-Section Number : 3
Sub-Section Id : 536228102
Question Shuffling Allowed : Yes

Question Id : 5362282613 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension



Read the passage carefully and answer Q.No. 96 to 100 that follow :

When we look around we see glaring inequalities between man and man. While the
constitution and law ensure an ordered society. it 1s only our hard work and disciplined
conduct that will enable us to achieve our social objectives and economiec goals that we have
set before us. Bapu rightly stressed “Democracy 1s the art and science of mobilising the
entire physical. economic and spiritual resources of all sections of the people in the service of
the common good for all.” The purpose of the Government is to achieve this. Our people
possess 1ntelligence in abundance, have immense capacity for hard work and they feel for
the country. All this is to be mobilised to the best advantage of the nation. Again to guote
Gandhi. © Swara) of a people means the sum total of the Swaraj (Self-rule) of individuals.
And such Swaraj comes only by performance of individuals, of their duty as citizens. They
come when they are needed for better performance of duty.” It 1s but proper that we remind
ourselves of these teachings of the father of the nation.

Sub questions

Question Number : 146 Question Id : 5362282614 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following will help us to achieve our social goals?

(1) Scientific attitude (2) Intelligent understanding
(3) Disciplined behaviour (4) Mobilising the physical resources
Options :

53622810181. 1
53622810182. 2
53622810183. 3
53622810184. 4

Question Number : 147 Question Id : 5362282615 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the passage. the Indians are praised for which of the qualities?

(A) Intelligence
(B) Hard work
(C) Patriotism
(D) Service for all

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A). (B) and (D) only
(3) (B). (C) and (D) only
(d) (A). (C) and (D) only
Options :
53622810185. 1



53622810186. 2
53622810187.3
53622810188. 4

Question Number : 148 Question Id : 5362282616 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Gandhiji. people are required to do their duties :

(1) Without thinking of their rights.
(2) Without bothering about others.
(3) Without thinking of the type of government.
(4) Without bothering about the inequalities.
Options :
53622810189. 1
53622810190. 2

53622810191. 3
53622810192. 4

Question Number : 149 Question Id : 5362282617 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statement 1s NOT correct according to the passage?

(1) There are inequalities among the people.
(2) We can achieve our economiec objective with hard work.
(3) Democracy 1s the art of mobilising all resources.

(4) Indians do not have the capacity for hard work.

Options :

53622810193. 1
53622810194. 2
53622810195. 3
53622810196. 4

Question Number : 150 Question Id : 5362282618 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



As per the passage. what should be the purpose of the government?

(1) To educate people for their betterment.
(2) To provide people adequate source of living.

(3) To mobilise the entire physical. economic and spiritual resources of all sections of
people 1n the service of common good for all.
(4) To mobilise the financial resources of the country for its all round development.
Options :
53622810197. 1
53622810198. 2

53622810199. 3
53622810200. 4

Question Id : 5362282613 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

few 170 Ty 1 g view sin i fru ey H. 06 & 100 % 390 ifs |
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Sub questions

Question Number : 146 Question Id : 5362282614 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
feforfiad 4 9 T 24 s1o4 AmaTiors @ &1 9Ty %7 1 gae faerfi?

(1)  AsifeE sifuafd (2)  dfaEampl gz
(3)  sunfHd =EET (4) T FEEE A

Options :



53622810181. 1
53622810182. 2
53622810183.3
53622810184. 4

Question Number : 147 Question Id : 5362282615 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TETY o SR ARAATRE] i e f i o fore 6 s 27

(@ g

(b)  Hal 44

(c) Z914ieh

(d) HAHTIYE

fregferfiaa fasedi @ & 9d 3 g

(1)  =ad (A). (B) 31 (C)
2 FE (A). (B) ¥ (D)
(3)  %ad (B). (C) * (D)
(4)  FE (A), (C) 31 (D)

Options :

53622810185. 1
53622810186. 2
53622810187. 3
53622810188. 4

Question Number : 148 Question Id : 5362282616 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TS o HFHE AR A s Sl 2 R 9 s e 1 faie

(1) s st o6 Tae T fomn &
(2) = saferal o) faean fer o =
(3)  wverr o wafd = Feem faro fer =
(4)  sHEEmSH] Fl T B fE

Options :

53622810189. 1
53622810190. 2
53622810191. 3
53622810192. 4

Question Number : 149 Question Id : 5362282617 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
TErTel % S Feforfiad 0 § e e ud a7 27
(1) S d FEaHare e 2

(2)  BUFST 2§ 3 Hfehw ey Fimfe = g )

(3)  irhad Al FETaHl #1 sHlEd i SHE 3 i 5 HEE 2

(4)  AFAETREE 4 FHIE HH GHAF S 2

Options :

53622810193. 1
53622810194. 2
53622810195. 3
53622810196. 4

Question Number : 150 Question Id : 5362282618 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TR % SFHR HEHE F] T #11 2] Arfau?

(1) == i sz o foro 3= farfera o)
(2) WA I SHEA D09 o A HHE 3T HET
(3)  www ifes, s s stenfaes aH] & e T2 6 fgen 8 3agEiwm

(4)  =dfse fawm & foru g9 G damadi 1 92MT

Options :

53622810197. 1
53622810198.2
53622810199. 3
53622810200. 4



